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Question Number : 1 Question Id : 6154755359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify those features of learner behaviour which are associated with understanding level

teaching :

(a) The student renders facts and information 1n his‘her own words

(b) The student 1immediately recalls the facts taught

(c) The student gives his / her own examples 1n order to explain a point

(d) The student interprets the meanings In various wavs

(e) The student correctly reproduces the sequence taught

Select vour answer from the following options :

(1) {a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (d) and (e) (4) (a) (c) and (d)
Options:

E1547520901. 1
B1547520902. 2
61547520903, 3
615475203904, 4

Question Number : 1 Question Id : 6154755359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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B1547520902. 2
61547520903, 3
61547520904, 4

Question Number : 2 Question Id : 6154755360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following sequence depicts outcome based curriculum design for college level
teaching programmes?

(1) Content, teaching-learning, learning outcomes, evaluation

(2) Desired learning outcomes, content, teaching-learning, assessment and evaluation

(3) Teaching-learning, content. learning outcomes. assessment and evaluation

(4) Content. learning outcomes desired. teaching-learning, evaluation and assesament
Options:

615475203905, 1
E1547520906. 2
E15475208907. 3
E1547520908. 4

Question Number : 2 Question Id : 6154755360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547520905, 1
61547520906, 2
61547520907, 2
61547520908, 4

Question Number : 3 Question Id : 6154755361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a key to effective teaching behaviour?

(1) Teacher mediated dialogue which helps learners restructure what 1s being learned

(2) Ehcting clarification of an answer given by students

(3) Soliciting additional information about a response of students

(4) Promoting low error rate (high success) contrbutive to increased levels of students’

self esteem and positive attitude

Options:

61547520909, 1
61547520910 2
61547520911, 2
61547520912 4

Question Number : 3 Question Id : 6154755361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547520909, 1
61547520910 2
61547520911,
61547520912 4

Question Number : 4 Question Id : 6154755362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

For encouraging ‘learning to learn’. the emphasis on which of the following would be most
appropriate?

(1) Use of educational technology gadgets

(2) Organizing teaching to increase opportunity for transfer of learning

(3) Assigning tasks to be mastered by students

(4) Frequent tests to be conduted

Options:
61547520913, 1
61547520514 2



E1547520915. 3
B1547520916. 4

Question Number : 4 Question Id : 6154755362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547520913, 1
61547520914 2
61547520915 =
61547520916 4

Question Number : 5 Question Id : 6154755363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following modes of assessment the potential for increasing intrinsic

motivation 1s optimum?

(1) Formative assessment based evaluation

(2) Computer testing based assessment

(3) Summative assessment

(4) Norm-referenced based testing assessment
Options:

E15475208917. 1
E1547520918. 2
61547520915, 3
B1547520920. 4

Question Number : 5 Question Id : 6154755363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547520917, 1
E1547520918. 2
61547520919, 5
61547520920 4

Question Number : 6 Question Id : 6154755364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following research methods, an empirico-inductive paradigm 1s employed?

(a) Ethnographic probe
(b) Case study method
(c) Ex post facto method
(d) Narrative method

(e) Experimental method

Select your answer from the options given below :

(1)  (a). (b) and (c)
(2) (b). (¢) and (d)
(3) (a). (b) and (d)
(4) (c). (d) and (e)

Options:

61547520921, 1
61547520922 2
E1547520922. 2
61547520924, 4

Question Number : 6 Question Id : 6154755364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547520521, 1
61547520922 2
E1547520023. 2
61547520924 4

Question Number : 7 Question Id : 6154755365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The probability sampling procedures are mostly used in which of the following researches?

(a) Survey researches

(b) Experimental researches

(c) Phenomenology based researches

(d) Action researches

(e) Correlational design based researches

Select vour answer from the follwoing options :

(1)  (a). (b) and (e)
(2)  (a). (b) and (c)
(3) (b). (c) and (d)
(4) (c). (d) and (e)

Options:

61547520925, 1
61547520926 2
E1547520927. 2
61547520928, 4

Question Number : 7 Question Id : 6154755365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547520925, 1
61547520926, 2
61547520927, 2
E1547520928. 4

Question Number : 8 Question Id : 6154755366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The style of writing a thesis and research article has to be

(1) Creative 1n so far as diction 1= concerned

(2) Scientific in respect of language used

(3) Mechanical in so far as placement of fizures and tables 1s concerned
(4) Vamable in respect of referencing
Options:

E15475208929. 1
E1547520930. 2
B1547520921. 3
B154752093%. 4

Question Number : 8 Question Id : 6154755366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547520929, 1
61547520920 2
61547520931, 2
61547520932 4

Question Number : 9 Question Id : 6154755367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The application of which of the following ICT in research will ensure wider coverage and

accessibility of needed information?

(1) LAN (2) WAN
(3) Skype (4) Intranet
Options:

B1547520933. 1
61547520924, 2
61547520935 3
61547520936, 4

Question Number : 9 Question Id : 6154755367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547520923. 1
61547520924, 2
61547520935 3
E15475Z20936. 4



Question Number : 10 Question Id : 6154755368 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A researcher while reporting his /her research findings gives weightage to stake holder’s
perspective 1n a qualitative research theme. This will involve

(1) Violation of ethical norms

(2) Bias and prejudices

(3 Disclosure of reality situation
(4) Inappropriate interference of others in research
Options:

61547520937, 1
61547520928, 2
61547520939, 3
E1547520940. 4

Question Number : 10 Question Id : 6154755368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547520937. 1
E15475208928. 2
E1547520939. 3
51547520940, 4

Question Number : 11 Question Id : 6154755369 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the hinear model of communication. the expected result 1z

(1) Psvchological disruption (2) Removal of physical noise
(3) High level of obstruction (4) Semantic accuracy
Options:

E1547520941. 1
61547520942 2
61547520943, 3
61547520944, 4

Question Number : 11 Question Id : 6154755369 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

515475209411
61547520942 2
61547520943, 3
61547520944, 4

Question Number : 12 Question Id : 6154755370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An important element in classroom communication is

(1) Physical infrastructure {2) Fields of experience
(3) Conditioned feedback {4) Linearity of Message
Options:

E15475208945. 1
E154752094E. 2
B1547520947. 3
615475209458, 4

Question Number : 12 Question Id : 6154755370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547520945. 1
B154752094E. 2
B1547520947. 3
615475209458, 4

Question Number : 13 Question Id : 6154755371 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The concept of proximal development. related to educational communication. was developed
by

(1) Sigmund Freud (2) EKurt Lewin
(3) Lev Vygotsky (4) Alberk Bandura

Options:



E1547520945. 1
61547520950, 2
61547520951, 3
61547520952, 4

Question Number : 13 Question Id : 6154755371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475209459 1
61547520950, 2
61547520951, 3
E15475208952. 4

Question Number : 14 Question Id : 6154755372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Effective oral communication demands

(a) Self-confidence

(b) Long pauses

(c) Consistent practice

(d) Business like approach
(e) Enowing the audience

(£) Aggresaive questioning

Choose the correct answer from the following option :

(1) (b). (c) and (d) (2) (c). (d) and ()
(3) (d). (e) and (D (4) (a). (c) and (e)
Options:

61547520953, 1
E15475208954. 2
E1547520955. 3
B1547520956. 4

Question Number : 14 Question Id : 6154755372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(a)  #ATH-Tavam

(b) =

(c) A T

(d)  =EEE S g
(e)  HiaTal =+ AEAT

(f) STHRESF 21 ° 999 T

eATTha fashedl § ® &1 999 960,

1) (b). (c) 3T (d) @) (©.(d) #F (@D
(3) (A, (e) 3 (D (4) (a). (c) 17 (e)

Options:
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Question Number : 15 Question Id : 6154755373 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements - one is labelled as Assertion (A) and the other 1s labelled as

Reaszon (R):

Asszertion (A) : The spoken and written words are two media of many available for
communication in the classroom

Reason (R) : Communication through any medium does not happen through attitudes of

encoders

In the hight of the above two statements choose the correct option from the choices given

below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. and (R) 1s not the correct explantion of (A)
(3 (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:



B1547520957. 1
61547520958, 2
61547520955, 3
E15475Z20960. 4

Question Number : 15 Question Id : 6154755373 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547520957, 1
61547520958, 2
61547520959 =2
1547520960, 4

Question Number : 16 Question Id : 6154755374 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If A 1z directly proportional to B: B 1z inverszely proportional to C and C 1s directly
proportional to D. then

(a) A 1s inversely proportional to D

(b) A 1s directly proportional to D

(c) A 1s directly proportional to C

(d) A 1z inversely proportional to C

Choose the correct answer from the options given below:

(1) (a) and (d)
(2) (b) only
(3) (a) only

(4) (c) and (d)

Options:

61547520961, 1
61547520962, 2
61547520963 2
61547520964 4

Question Number : 16 Question Id : 6154755374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547520961, 1
E15475209E82. 2
61547520962 5
61547520964, 4

Question Number : 17 Question Id : 6154755375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Average of two numbers a and b 13 22 and 60% of a = 50% of b. What 1s the product of
aand b ?

(1) 160 (2) o84
(3) 480 (4) 484
Options:

61547520965, 1
61547520966, 2
E1547520967. 3
E1547520968. 4

Question Number : 17 Question Id : 6154755375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a 7 b ZET T F IAEG 22 7 30 @ F60% = b F 50% 7| @ I b FIHAFA 1 77

(1) 160 (2) 384
(3) 450 (4 434
Options:

E15475208965. 1
E1547520966. 2
B1547520967. 3
61547520968, 4

Question Number : 18 Question Id : 6154755376 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

B 15 the only daughter of maternal erandmother of A. How 15 A related to B?

(1) Sister (2) Daughter
(3) Cousin (4) DMother
Options:

E15475209649. 1
B1547520970. 2
B1547520971. 3
E1547520972. 4

Question Number : 18 Question Id : 6154755376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475209649. 1
B1547520970. 2
G1547520971. 3
E1547520972. 4

Question Number : 19 Question Id : 6154755377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a certain code "CREDIT" 12 written as "EPGBEKR" and in the same code. "DEBIT" will be
written as

(1) FDCGV (Z2) TFGCDV
(3) FCDGV (49) FCDVG



Options:

61547520973, 1
61547520974 2
E1547520975 2
1547520976, 4

Question Number : 19 Question Id : 6154755377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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T ey =
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(3) FCDGV (4) FCDVG
Options:

615475209731
61547520974, 2
61547520975, 3
E1547520976. 4

Question Number : 20 Question Id : 6154755378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term of the series 1s

1D3. sH5. aL7. :

(1) P9 (2) TRH9
(3) TN 4 7L9
Options:

E1547520977. 1
61547520978, 2
E1547520973. 3
E1547520980. 4

Question Number : 20 Question Id : 6154755378 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547520977. 1



B1547520978. 2
B15475209759. 3
61547520980, 4

Question Number : 21 Question Id : 6154755379 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The attributes shared by all and only those objects to which a term refers 1s known as

(a) The intention of a term
(b) Connotation

(c) Denotation

(d) The extension of a term

Choose the correct code from below:

(1) (d) only (2) Both (a) and (b)
(3) Both (c) and (d) (4) (c) only
Options:

61547520951, 1
E1547520982. 2
E1547520983. 3
B1547520984. 4

Question Number : 21 Question Id : 6154755379 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547520981. 1
B1547520982. 2
E15475Z20983. 3
61547520954, 4



Question Number : 22 Question Id : 6154755380 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to traditional square of opposition if two propositions are so related that they
cannot both be false, although they may both be true 1s called:

(1) Sub altern (2) Sub contraries
(3) Contradictory (4) Contrary
Options:

E1547520985. 1
E1547520986. 2
B1547520987. 3
61547520988, 4

Question Number : 22 Question Id : 6154755380 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TP Sy @ % FEE 902 21 fasieEl 38 TR H Hetad 7 " 261 39T 99 5 ghdl 2 9w d

(1)  37tEE (2) wu-fagim
(3)  TemramwE (4) Taufa
Options:

51547520985, 1
61547520986, 2
G1547520987. 3
61547520988, 4

Question Number : 23 Question Id : 6154755381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An informed fallacy in which the conclusion of an argument 1s stated or assumed 1n any one
of the premises 1s known as:

(a) Begging the question
(h) Circular argument
(c) Isnoratio elenchi

(d) Petitio principii

Choose the correct option from the following:

(1) (a). (b) and (d) (2) (a) and (c)
(3) (c) only (4) (b). (c) and (d)
Options:

61547520989, 1
61547520930, 2
61547520931, 3
E1547520982. 4



Question Number : 23 Question Id : 6154755381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
UF UHT AR aar, T9EH A HURY R PREl U S9R G 3 YR B AW o W B,
fAeATTha W o TReehl g ST ST B
(a) HTHTATTT
(b)  HFTR FAFFIHZ
(c) AR TAAHTE

(d)  ATHHEEN

fr=fefaa 9 9 92 faweg =1 =21 Fifao

(1) (a). (b) 741 (d) (2) (a)d4 (o)

(3) a4 (c) (4)  (b). (c) 747 (d)
Options:

61547520989, 1
61547520930, 2
61547520931, 3
E1547520982. 4

Question Number : 24 Question Id : 6154755382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s not correct with reference to anumana according to classical Indian
school of logic?

(1) Linga/Sadhana 1s the middle term (2) Paksa 1s the minor term

(3) Sadhya 1s the major term (4) Hetu 1s the minor term

Options:

61547520993, 1
61547520994, 2
615475209395 2
61547520996 4

Question Number : 24 Question Id : 6154755382 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A I TR T WO % SEN, A % G2l H a9 H R H wE aE A v

(1) o /aes e 0g 2 (2) wE T A UE 2
(3) WTI TH UH@ R R 4 FTFHFAMEEE
Options:

615475209583, 1



B1547520934. 2
61547520985 3
61547520936, 4

Question Number : 25 Question Id : 6154755383 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two premises with four conclusions drawn from them. Which of the following
1s valid conclusion drawn from the premises?

Premises :
(1)  All diaries are coples
(1) No copy 1s book

Conclusions :
(a) Some diaries are books (b) Some books are coples
(¢) No book 1s copy (d) No diary 1s book

Choose the correct option :

(1) (a) and (b)
(2) (c) and (d)

(3) (b) and (c)

(4) (a) and (d)
Options:
61547520997, 1
61547520998, 2
61547520999, 3
61547521000, 4

Question Number : 25 Question Id : 6154755383 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i) 2 ot Fd T T e

T
@ % wfE B e
(c) 2 i g Ft TE A (d) = i == T=E T A
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(1) (a) 747 (b)
(2) (c) 74T (d)
(3) (b) 74T (c)
(4) (a) 941 (d)
Options:
1547520997, 1
1547520998, 2

61547520939, 3
E1547521000. 4

Sub-Section Number: 2
Sub-Section 1d: 615475238
Question Shuffling Allowed : Yes

Question Id : 6154755384 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension

Consider the table given below for total exports of six countries over five years (1n crores of
rupees) and answer the questions 26-30:

'\\Year 2008 | 2009 | 2010 | 2011 | 2012

Gounﬁ@*ﬂ
A 20 40 60 45 90
B 30 25 15 50 100
C 50 55 70 20 65
D 45 60 20 15 25
E 60 50 348 100 110
F 24 40 60 TS 120

Aszume : profit = Export — Import.

Sub questions



Question Number : 26 Question Id : 6154755385 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the profit of all the countries together in the vear 2012 if the total imports of all
the countries together was rupees 385 crore?

(1) Rupees 510 crore (2) Rupees 250 crore
(3) Rupees 160 crore (4) Rupees 125 crore
Options:

E1547521001. 1
B1547521002. 2
61547521003, 3
61547521004, 4

Question Number : 27 Question Id : 6154755386 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the ratio of export to import 1n country F and country D are 4 : 1 and 1 : 2 respectively in
the year 2008, then what 1s the total import of country F and D together in that particular
yvear? (in crores of rupees)

(1) 14 (2) 65
(3) 92 (4) 96
Options:

61547521005, 1
E1547521006, 2
E1547521007. 3
61547521008, 4

Question Number : 28 Question Id : 6154755387 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the export of country A in the yvear 2013 1s 20% more than the total export of country B in
2011 and the export of country E 1n 2010 together, then what was the profit of A in the year
2013 1f 1ts import was Rupees 92 crore for that yvear? (In crores of rupees)

(1) 10 (2) 22
(3) 34 (4) 46
Options:

61547521005, 1
61547521010, 2
61547521011, =
E1547521012. 4

Question Number : 29 Question Id : 6154755388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



By what precent 1= the average export of country E over all the given vears more than the
average export of country C over all the yvears?

7 7
1) 131 9) 1419
3 ¢ T
(3) 13%% (4) 14%%

Options:

61547521013, 1
61547521014 2
61547521015 2
61547521016, 4

Question Number : 30 Question Id : 6154755389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the percentage increase in the export of all the countres together from the year
2009 to 20117

(1) 35%% (2) 38%%
(3) 40%% (4) 38% %

Options:

615475210171
61547521018, 2
61547521019 =
61547521020 4

Question Id : 6154755384 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

9T A9 SR B 2 % T FAE (FE 5. ") F A= § o arferm W B A SR e 26 5 30
EiaE

EE 2008 | 2009 | 2010 | 2011 | 2012

;'JI'.'-'—[

A 20 | 40 | 60 | 45 | 90

B 30 25 15 50 100

C 50 55 70 | 90 65

D 45 60 20 15 25

E 60 50 35 100 110

F 24 40 60 75 120

o =190 @8 = A — A



Sub questions

Question Number : 26 Question Id : 6154755385 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 2012 = i 20 1 e HerE ha W R 91 s w29 1 Fer A 385 WS A17
(1) 5103 %, (2) 280 FTE.

(3) 160 Fs 7. (4) 125 F3 %,
Options:

61547521001, 1
E1547521002. 2
B1547521003. 3
B1547521004. 4

Question Number : 27 Question Id : 6154755386 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gz ad 2008 AN F AR S D H 29709 SHId %A% 4 : | s 1 : 22 Al sHiad gy F e D

[

H 44 (2) 6
3 92 (4) 96

Options:

61547521005, 1
61547521006, 2
61547521007, 2
E1547521008. 4

Question Number : 28 Question Id : 6154755387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ifz @9 2013 4 23 A %1 3= 29 B %1 2011 ¥ 3% 27 E %1 2010 § U 70 Fer @ ° 20 viae
AT 2 a1 A 1 2013 H Pl a1 @9 A1 IS SHRT 39 99 ATE 92 HS T, AT7

(1) 10 () 22
(3) 34 (4) 46
Options:

61547521009, 1
61547521010, 2
61547521011, =
BE1547521012. 4

Question Number : 29 Question Id : 6154755388 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= A9 = 20 29 E 1 S e 2 C % s i (39 990 SE) ° e st 2 e

7

(1 13-

= 1

3) 132%
7

Options:

61547521013, 1
61547521014, 2
61547521015 5
61547521016 4

Question Number : 30 Question Id : 6154755389 Question Type: MCQ Option Shuffling : No Display Question Number

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

7
9 14-L¢
) T
(4) 14%%

9 2009 F 2011 7 Tl T F AAE H Fe AR et g

(1) 35%%
(3) 4D§%

Options:

61547521017, 1
61547521018 2
1547521019 2
1547521020, 4

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

Question Number : 31 Question Id : 6154755390 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

represents raw facts, whereas

g 58 &7
@ 33%%
(4) 38% %

3
615475239
Yes

(1) Information. Bits
(3) Data. Information

Options:

615475210211
61547521022 2
61547521023 2
61547521024, 4

(2) Records. Bytes
(4) Information, Reporting

1s processed meaningful data.

Yes

Yes



Question Number : 31 Question Id : 6154755390 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT 929 & Falw Tfea 3790 ATRST 7
(1) 3=, foed (2) Towiza, sE2E
(3) =@, GEAl (4) T=, Toanten

Options:

61547521021, 1
61547521022 2
61547521023 2
61547521024 4

Question Number : 32 Question Id : 6154755391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following storage devices stores maximum amount of data?

(1) Compact disc (2) Floppy disc
(3 Hard disc (4) Magnetic optic disc
Options:

615475210251
61547521026, 2
E1547521027. 3
BE1547521028. 4

Question Number : 32 Question Id : 6154755391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frtefiaa 9 9 F=-H Gu=v A FETEE AR UEE il B 7

(1) =i o0 (2) e 2T
(3) = zE= (4) Huafzw s1ifes 20
Options:

61547521025, 1
E1547521026. 2
B1547521027. 3
B15475210258. 4

Question Number : 33 Question Id : 6154755392 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a computer based system that stores and manipulates data which
are viewed from a geographical point or reference?

(1) Database System (2) Geographical Information System
(3) Geographic Syatem (4) Software System
Options:

615475210291
E1547521020. 2
E1547521021. 3
BE1547521032. 4

Question Number : 33 Question Id : 6154755392 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frtatEd % 3 FHA-H1 UF FEgZ ARG IO 2 7 39 ATRS] i GulEd w4l 7 AR T Asars Fwdl
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(1)  =reEy ey (2) Hiifers geaT ToTE
(3)  HITeT womed (4) ETFEEE s
Options:

615475210291
E1547521020. 2
E1547521021. 3
BE1547521032. 4

Question Number : 34 Question Id : 6154755393 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

VDU stands for

(1) Virtual Display Unit {(Z) Virtual Detection Unit
{3) Visual Display Unit {(4) Visual Detection Unit
Options:

615475210231
61547521024, 2
E1547521035. 3
61547521036, 4

Question Number : 34 Question Id : 6154755393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



VDU f=fetfiga 1 4 foraer dfem am 27

(1) =g feaw e (2) FTEAA Tzzom g
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Options:

61547521033, 1
61547521034 2
61547521035 2
61547521026, 4

Question Number : 35 Question Id : 6154755394 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

International Computer Security Day 1s observed on

(1) 18% July (2y 30™ November
(3) 28d December (4) 23" December
Options:

61547521037, 1
E15475Z21028. 2
E1547521033. 3
E1547521040. 4

Question Number : 35 Question Id : 6154755394 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

1) 18 F=E (2) 30 TR
3) 2 famm (4) 23 fgE=
Options:

E1547521037. 1
E15475210238. 2
61547521035, 3
61547521040, 4

Question Number : 36 Question Id : 6154755395 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes



Given below are two statements — one labelled as Assertion (A) and the other i1s labelled as

Eeason (R).
Assertion (A):  The impact of natural disasters does not depend on socio-economic factors.
Reason (R) : Natural disasters do not discriminate between people of a society and

other communities.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1= false but (R) 1s true

Options:

1547521041, 1
61547521042, 2
61547521042 5
61547521044 4

Question Number : 36 Question Id : 6154755395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



E1547521041. 1
B154752104% 2
61547521043, 3
61547521044, 4

Question Number : 37 Question Id : 6154755396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Kyoto Protocol. the first committment period for reduction of greenhouse gas
emissions by 37 industrialized and European community countries was :

(1) 1997 — 2005 (2) 2000-2012
(3) 2008 — 2012 (4) 2005-2015
Options:

61547521045 1
61547521046, 2
61547521047, 3
E1547521045. 4

Question Number : 37 Question Id : 6154755396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FATE TIEHRIe & Aad 37 ARG dT FEE THEE + 99 g #hd TE 1H Soaed & form gem
TiaEgT A F4 o7 7

(1) 1997 — 2005 (2) 2000-—2012
(3) 2008 — 2012 (4) 2005-2015
Options:

E1547521045. 1
E154752104E. 2
B1547521047. 3
615475210458, 4

Question Number : 38 Question Id : 6154755397 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Exposure to noise pollultion can cause
(a) Weakening of immune system
(b) Sleeplessness

(c) Speech interference

(d) Increase in blood pressure

(e) Shaft 1n threshold of hearing

() Respiratory problems

Choose the correct option from those given below :

(1) (a). (b). (c). (e) and (P (2) (b). (c). (d) and (e)
(3) (b). (c). (d). (e) and (f) (4) (a). (b). (c). (d). (e) and ()
Options:

B15475210459. 1
61547521050, 2
61547521051, 3
61547521052, 4

Question Number : 38 Question Id : 6154755397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sﬂi:l giaéqu % qu{unqﬁl.-' :l
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(1) (a). (). (). (e) =TT B 2 (), (©), (d) =R (e)

(3) (b, (0). (d). (e) 3T () 4)  (a). (). (©). (d). () 31T (f)
Options:

E1547521045. 1
E1547521050. 2
51547521051, 3
B154752105%2. 4

Question Number : 39 Question Id : 6154755398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The potential of geothermal power in India 1s approximately

(1) 10 GW (2) SoGW
(3) 20 GW (4) 20 GW
Options:

51547521053, 1
61547521054, 2
61547521055, 3
E1547521056. 4

Question Number : 39 Question Id : 6154755398 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

g O T fRa §-ard faea =i gurera 2 7

(1) 10 TrmaTe (2) 5 TTTETE
(3) 20 TrTETe (4) 25 TmEE
Options:

61547521053, 1
E1547521054. 2
E1547521055. 3
B1547521056. 4

Question Number : 40 Question Id : 6154755399 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following air pollutants are produced from room deodorizers?

(1) Inhalable particulate matter

(2) Carbon monoxide

(3) Ozone

(4) Volatile organic compounds
Options:

BE1547521057. 1
61547521058, 2
61547521055, 3
E15475Z21080. 4

Question Number : 40 Question Id : 6154755399 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Yes

Yes

Yes



Correct Marks: 2 WrongMarks: 0
freterfiEa & @ iH-= 919 T 4 Fiaenes (w9 fearsmesd) ¥ 47 wh 2 v
(1)  va==E FomHE 9=
(2)  THEA AEISAEEES

(3) A

(4)  =OIEiE wEE T

Options:

61547521057, 1
61547521058 2
E1547521059 =2
1547521060, 4

Question Number : 41 Question Id : 6154755400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are the statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (4) : Considering higher education as a non-priority for the state is linked to the
withdrawal of public funding to 1t.

Reason (R) : The pressure of free enterprise system in this regard 1s an attempt to

expand their educational market.

In the light of above two statements, choose the correction option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:
£1547521061. 1

E1547521062. 2
BE1547521063. 3
B1547521064. 4



Question Number : 41 Question Id : 6154755400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547521061, 1
61547521062 2
61547521063 2
61547521064, 4

Question Number : 42 Question Id : 6154755401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

The community colleges have provisions for
(1) Single admission

(2) Concurrent admission

(3) Self-financing system

(4) Teaching at home

Options:

61547521065, 1
61547521066, 2
15475210687, 2
15475210688 4



Question Number : 42 Question Id : 6154755401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) eI o
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Options:

61547521065, 1
61547521066 2
61547521067, 2
61547521068, 4

Question Number : 43 Question Id : 6154755402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

An institution desirous of applying for deemed to be university status must have been 1n

existence for at least

(1) 5 Years (2) 10 Years
(3) 20 Years (4) 25 Years
Options:

E1547521063. 1
B1547521070. 2
B1547521071. 3
G154752107Z2. 4

Question Number : 43 Question Id : 6154755402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



E1547521063. 1
B1547521070. 2
61547521071, 3
E154752107Z2. 4

Question Number : 44 Question Id : 6154755403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The WTO negotiation on higher education deals with 1ssues hike :

(a) education as a free service

(h) vigorous soclal affirmation in developed countries
(c) assigning important role for civil society

(d) education as a trade

(&) education as a commodity

(f) withdrawal of public sector from higher education

Choose the correct answer from the options given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (b). (c) and (e) (4) (d).(e) and (D
Options:

615475210731
61547521074, 2
61547521075, 3
E154752107E6. 4

Question Number : 44 Question Id : 6154755403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475210731
61547521074, 2
61547521075, 3
E1547521076. 4



Question Number : 45 Question Id : 6154755404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The objective of Indian Government behind setting up of HEFA (Higher Education Finance
Agency) 1= to provide financial support for :

(1)
(2)
(3)
(4)

Options:

Improvement of infra structure in premier institutions of the country
Research projects of faculty
Research collaboration between Indian and Foreign Universities

Research collaboration between Indian Institutions and Industry

B1547521077. 1
61547521078, 2
615475210743, 3
615475210380, 4

Question Number : 45 Question Id : 6154755404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B1547521077. 1
B1547521078. 2
61547521075 3
E1547521080. 4

Sub-Section Number: 4
Sub-Section 1d: 615475240
Question Shuffling Allowed : Yes

Question Id : 6154755405 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Question Label . Comprehension



Read the following passage carefully and answer the questions that follows:

Under the labour theory of value, the value or price of a commodity depends exclusively on
the amount of labour going into the production of the commodity. This implies that either
labour is the only factor of production or labour is used in the same fixed proportion in the
production of all commodities and that labour is homogeneous, i.e. of only one type. Since
neither of these assumptions is true, we cannot base the explanation of comparative
advantage on the labour theory of values specifically, labour is not the only factor of
production. nor is it used in the same fixed proportion in the production of all commodities.
For example. much more capital equipment per worker is required to produce some products,
such as steel, than to produce other products such as textile. In addition, there is usually
some possibility of substitution between labour, capital and other factors in the production of
most commodities. Further more, labour is obviously homogeneous but varies greatly in
training, productivity and wages. At the very least, we should allow for different
productivities of labour. Indeed. this is how the Ricardian theory of comparative advantage
has been tested empirieally. In anv event, the theorv of comparative advantage need not he
based on the labour theorv of value but can be explained on the basis of the opportunity cost
theory which is acceptable. To be noted is that Ricardo himself did not belive in the labour
theory of walue and used it only as a simple way to explain the law of comparative
advantage. The law of comparative advantage is sometimes referred to as the law of
comparative cost.

Sub questions

Question Number : 46 Question Id : 6154755406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What does the Labour Theory of Value imply?

(1) Labour 1= an extra factor in production
(2) Labour has a limited role in production
(3) Labour has the highest value 1n production

(4) Commodity price and labour value are directlv related

Options:

61547521081, 1
615475210382 2
61547521082 2
615475210384, 4

Question Number : 47 Question Id : 6154755407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the Labour Theory of Value. when it comes to production of commodities. engagement of
labour 13

(1) heterogeneous (2) 1n fixed proportion
(3) in varied proportion (4) capital intensive
Options:

61547521085, 1
615475210386, 2
E1547521087. 3



E1547521088. 4

Question Number : 48 Question Id : 6154755408 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Products like steel need

(1) leas workers (Z) more workers
(3 more machines (4) less machines
Options:

E1547521089. 1
B15475210380. 2
B15475210391. 3
B154752108%2. 4

Question Number : 49 Question Id : 6154755409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Ricardian Theory 1s examined on the basis of

(1) labour value (2) homogeneity of labour
(3) different levels of labour productivity (4) law of possibility
Options:

E1547521083. 1
61547521084, 2
615475210385 3
E1547521036. 4

Question Number : 50 Question Id : 6154755410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the author of the passage

(a) labour 1s the basis of commodity pricing

(b) labour can be substituted with capital

(c) less capital equipment per worker 1s required for products like textile
(d) opportunity cost can help explain comparative advantage

(e) Ricardo used the labour theory of value only to explain comparative cost
(D) Ricardo was not sure of his own theory

Choose the correct option :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (d). (e) and (£ (4) (). (d) and (e)
Options:

615475210871
61547521038, 2



E15475210393. 3
61547521100, 4

Question Id : 6154755405 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension
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Sub questions

Question Number : 46 Question Id : 6154755406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547521081, 1
61547521082, 2
61547521082 =2
1547521024 4



Question Number : 47 Question Id : 6154755407 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547521085, 1
E1547521086. 2
B1547521087. 3
B1547521088. 4

Question Number : 48 Question Id : 6154755408 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547521089. 1
B15475210380. 2
615475210381, 3
615475210382, 4

Question Number : 49 Question Id : 6154755409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547521083 1
61547521034, 2
61547521035, 3
E1547521036. 4

Question Number : 50 Question Id : 6154755410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a). (b) # ()
(3)  (d). (e) 7 (D

Options:

61547521097, 1
61547521098, 2
61547521099 2
615475211004

(2) (b, (c) 3 (d)
(4)  (0). (d) #7 (e)

PART II Public Adrministration

Section Id : 61547574
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 615475241
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154755411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who defined Public Administration as follows : “Public Administration 1s adminmistration
related to the operations of government whether Central or local™

(1) M.E. Dimock (2) H. Walker
(3 P. Mc Queen (4) J.M. Pfiffner
Options:

61547521101, 1



E1547521102. 2
61547521103, 2
51547521104, 4

Question Number : 51 Question Id : 6154755411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547521101, 1
61547521102 2
61547521102, 3
E1547521104. 4

Question Number : 52 Question Id : 6154755412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I
According to Seckler Hudson. which one of the following 1s a hindrance to co-ordination?

(1) Lack of knowledge

(2) Lack of administrative skills

(3) Uncertainty of the future behaviour of individuals and of groups

(4) Lack of leaders with wisdom and knowledge pertaining to public administration
Options:

615475211051
61547521108, 2
E1547521107. 3
E1547521108. 4

Question Number : 52 Question Id : 6154755412 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547521105, 1
61547521106 2



E1547521107. 3
61547521108, 4

Question Number : 53 Question Id : 6154755413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who defined authoritv as ‘the right to give orders and power to exact obedience™

(1) Max Weber (2) Henn Fayvol
(3) Chester Barnard (4) Mooney and Reiley
Options:

E1547521108. 1
E1547521110. 2
B1547521111. 3
61547521112 4

Question Number : 53 Question Id : 6154755413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafgs § 4 e oo =1 33 wifasr % =9 § gftaifeg e, 51 wmes 29 30 SOehl 99 &9 9
YA TEAT 2 7

(1)  Hg 9 (2) =

(3) AR (4) T AR I

Options:

515475211051
61547521110, 2
61547521111, =
E1547521112. 4

Question Number : 54 Question Id : 6154755414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following thinkers coined the acronym — "POSDCORB™?

(1) Henr Favol (2) Lyndall Urwick
(3) Luther Gulick (4) L.D. Whate
Options:

E1547521113. 1
61547521114, 2
61547521115 3
E1547521116. 4

Question Number : 54 Question Id : 6154755414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475211121
61547521114, 2
E1547521115 3
E1547521116. 4

Question Number : 55 Question Id : 6154755415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The viclation of which one of the following principles undermines authority. jeopardises
discipline. disturbs order and threatens stability in an organization?

(1) Span of Control (2) Hierarchy
(3) Unity of Command (4) Co-ordination
Options:

E1547521117.1
E154752111%58. 2
515475211149, 3
61547521120, 4

Question Number : 55 Question Id : 6154755415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
61547521117, 1
£1547521118 2

E1547521118. 3
B1547521120. 4

Question Number : 56 Question Id : 6154755416 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Dimock and Dimock “the number and range of direct habitual communication

contacts between the Chief Executive of an enterprise and his principal fellow officers”. 1s
called as
(1) Hierarchy (2) Delegation

(3) Unity of Command (4) Span of Control



Options:

61547521121, 1
61547521122 2
61547521122 2
61547521124, 4

Question Number : 56 Question Id : 6154755416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(3) A FI UHAT (4) T A fagfa (2m)
Options:

61547521121, 1
B1547521122. 2
B1547521123. 3
61547521124, 4

Question Number : 57 Question Id : 6154755417 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who said that ‘legal-rational bureaucracy 1s technically superior to all other administrative

gyvatems'?

(1) Merton Robert (2) Max Weber
(3) Martin Albrow {4) Peter M. Elau.
Options:

615475211251
61547521126, 2
E1547521127. 3
E15475211258. 4

Question Number : 57 Question Id : 6154755417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547521125.1
B1547521126. 2
B1547521127. 3



B15475211258. 4

Question Number : 58 Question Id : 6154755418 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The concept of ‘Grapevine’ 1s associated with which of the following theory?

(1) Communication (2) Decision Making
(3) Motivation (4) Leadership
Options:

615475211291
61547521120, 2
E1547521121. 3
BE1547521132. 4

Question Number : 58 Question Id : 6154755418 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154752112591
61547521120, 2
61547521121, 2
61547521132, 4

Question Number : 59 Question Id : 6154755419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Kautilva which one of the following 1z NOT a layver in hierarchical village

administration?

(1) Samegrahana (2) Grama

(3) Sthamyva (4) Durga
Options:

BE1547521133. 1
61547521124, 2
61547521135 3
61547521136, 4

Question Number : 59 Question Id : 6154755419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547521123. 1
B1547521124. 2
61547521135 3
61547521136, 4

Question Number : 60 Question Id : 6154755420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s NOT a characteristic of Bureaucratic Theory?

(1) Division of work (2) Informal Selection
(3) Impersonality (4) Career Orientation
Options:

615475211371
61547521128, 2
61547521139, 3
E1547521140. 4

Question Number : 60 Question Id : 6154755420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547521137, 1
61547521128, 2
61547521139, 3
61547521140, 4

Question Number : 61 Question Id : 6154755421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of following 1s NOT included in Henri Fayol's 14 principles of administration?

(1) Order (2) Initiative
(3) Remuneration (4) Decentralization
Options:

515475211411
61547521142 2



E1547521143. 3
61547521144, 4

Question Number : 61 Question Id : 6154755421 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547521141, 1
E1547521142. 2
E1547521143. 3
B1547521144. 4

Question Number : 62 Question Id : 6154755422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who modified Maslow's principles of five human needs into three categories Le. Existence.
Relatedness and Growth?

(1) Douglas McGregor
(2) Me Clelland
(3) Clayton P Alderfer
(4) Fredrick Herzberg
Options:
61547521145, 1
61547521146 2

61547521147, 3
615475211485 4

Question Number : 62 Question Id : 6154755422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547521145. 1
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E1547521147. 3
51547521148, 4

Question Number : 63 Question Id : 6154755423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Chris Argyvris 1s associated with which one of the following concepts?

(1) ‘Gang Plank’ (2) ‘Tmmaturity-Maturity’
(3) ‘Zone of Indifference’ (4) ‘Constructive Conflict’
Options:

BE1547521145. 1
61547521150, 2
61547521151, 3
61547521152 4

Question Number : 63 Question Id : 6154755423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ToFg STl enad 3§ f5a saamon | Geiag 27

(1) T (2) “HIRTEEAT-TTEEar
(3)  ZEmEAT = A (4) TEATEEF TN
Options:

615475211491
61547521150, 2
E1547521151. 3
E1547521152. 4

Question Number : 64 Question Id : 6154755424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The 'Task Management stvle. mentioned in Robert Black and Jane Mouton's Management
Grid Theory. means which one of the following?

(1) High concern for people and High concern for production
(2) Low concern for people and Low concern for production
(3) High concern for people and Low concern for production
(4) Low concern for people and High concern for production
Options:

515475211521
61547521154, 2
61547521155 3
61547521156 4

Question Number : 64 Question Id : 6154755424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547521153, 1
61547521154 2
61547521155 =2
E1547521156. 4

Question Number : 65 Question Id : 6154755425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following 18 NOT a theme of New Public Administration?

(1) Values (2) Social Equity
(3) Change (4) Market orientation
Options:

E1547521157. 1
E1547521158. 2
61547521155, 3
61547521160, 4

Question Number : 65 Question Id : 6154755425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547521157. 1
E1547521158. 2
61547521155, 3
61547521160, 4

Question Number : 66 Question Id : 6154755426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following schedule of Indian Constitution lists the Constituent States and
Union Territories?

(1) First Schedule (2}  Third Schedule
(3) Fourth Schedule (4) Tenth Schedule
Options:

61547521161, 1
E1547521162. 2
BE1547521163. 3
B1547521164. 4

Question Number : 66 Question Id : 6154755426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HITAE AAEH 1 FAEd § ° S STIEE] H T2F T A7 T -TAEE i gEEg A TR

(1) TYH ST (2) FAE AT
(3)  =gY FFEA (4) =EE SR
Options:

E1547521161. 1
B1547521162. 2
61547521163, 3
61547521164, 4

Question Number : 67 Question Id : 6154755427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following commissions recommended ‘abolition of ocath of secrecy’
administrated to the Mimisters?

(1) M.M. Punchhi Commission

(2) Sarkaria Commission

(3) National Commission to Review the Working of the Constitution
(4) Second Administrative Reforms Commission

Options:

615475211651
61547521166, 2
E1547521167. 3
E1547521168. 4

Question Number : 67 Question Id : 6154755427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fAeferiiga # ® TG ST 4 GEET 1 5618 S ATl ToHEaT hi w9y =R wETe A i o
(1)  TA.FA. 931 A

(2) TR SEA

(3)  HiauF = FrH i wHiE 5] WEE AEM

(4)  Tgdmm womElF guw s

Options:

61547521165, 1
61547521166 2
61547521167, 2
1547521168 4

Question Number : 68 Question Id : 6154755428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Performance Management Division works under which of the following?

(1) Department of Personnel and Training

(2) Department of Home
(3) NITI Aavog

(4) Prime Minister's Office
Options:

15475211691

61547521170 2

1547521171 2

61547521172 4

Question Number : 68 Question Id : 6154755428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
61547521169, 1
61547521170, 2

61547521171, 3
E154752117Z2. 4

Question Number : 69 Question Id : 6154755429 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following 13 NOT the reason for the difference between the minister and the
civil servant in India in general?

(1) Political influence 1n the implementation of policy and adminmistration

(2) C1vil servant’s tendency to be tied more and more to red-tapism

(3) Lack of responsiveness to fresh ideas on the part of civil servants

(4) C1vil servant’s claims on superiorty in knowledge about techniques of work
Options:

E1547521173. 1
E1547521174. 2
61547521175 3
61547521176, 4

Question Number : 69 Question Id : 6154755429 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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Options:
15475211721

E1547521174. 2
E1547521175 3
B1547521176. 4

Question Number : 70 Question Id : 6154755430 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following committee 18 NOT related to Police Reforms 1n India?

(1) A R. Dave Committee (2) Ribeiro Committee
(3} Padmanabhaiah Committee (4) Soli Sorabjee Committee
Options:

615475211771
61547521178, 2
61547521179, 3
E1547521180. 4

Question Number : 70 Question Id : 6154755430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475211771
61547521178, 2
E1547521179. 3
E1547521180. 4

Question Number : 71 Question Id : 6154755431 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The establishment of the institution of Lokpal was first recommended by which of the
following?

(1) K. Santhanam Committee

(2) First Administrative Reforms Commission
(3) Venkat Chelliah Commission

(4) Sarkaria Commission

Options:

E1547521181. 1
B1547521182. 2
61547521183, 3
61547521154, 4

Question Number : 71 Question Id : 6154755431 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547521181, 1
61547521182 2
61547521182 2
61547521154, 4

Question Number : 72 Question Id : 6154755432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following kind of experience i1z NOT considered while appointing
Chief Vigilance Commissioner or Vigilance Commissioner?

(1) Matters relating to vigilance

(2) Policy-making and administration

(3) Judicial matters

(4) Finance including insurance and banking
Options:

E1547521185. 1
B1547521186. 2
61547521187, 3
61547521188, 4

Question Number : 72 Question Id : 6154755432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£1547521185. 1
£1547521186. 2

61547521187, 3
61547521188, 4

Question Number : 73 Question Id : 6154755433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following school/system of district administration was in favour of divesting the
executive authority (District Collector) of judicial powers during the British Period?

(1) Cornwalliz System (2) Metcalf Syvatem
(3) Elphinstone System (4) Munro School
Options:

615475211891
61547521130, 2
615475211391, =
B15475211392. 4

Question Number : 73 Question Id : 6154755433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547521189. 1
615475211380 2
615475211351, 3
61547521132 4

Question Number : 74 Question Id : 6154755434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which Constitutional Amendment Act has empowered the Governor to nominate Anglo-Indian
1in certain State Legislative Assembly?

(1) 215t Constitutional Amendment Act (2y 22vd Constitutional Amendment Act
(3) 23™ Constitutional Amendment Act  (4) 24™ Constitutional Amendment Act
Options:

615475211921
E15475211354. 2
E15475211395 3
615475211356, 4

Question Number : 74 Question Id : 6154755434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475211921
E15475211354. 2
E15475211395 3
615475211356, 4

Question Number : 75 Question Id : 6154755435 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which one of the following was ‘Part C state’ at the time of adoption of constitution?

(1) Andaman Nicobar Izsland (2) Dell
(3) United Province of Agra and Oudh (4) Oudh



Options:

61547521197, 1
61547521198 2
1547521199 2
61547521200, 4

Question Number : 75 Question Id : 6154755435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475211397, 1
E154752113958. 2
51547521199, 3
61547521200, 4

Question Number : 76 Question Id : 6154755436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following institution conducts the elections of Panchayati Raj Institutions?

(1) Election Commaission of India

(2) State Election Commission

(3) District Collector

(4) Commissioner/Director of Panchayati Raj

Options:

61547521201, 1
61547521202 2
61547521203 2
61547521204 4

Question Number : 76 Question Id : 6154755436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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Options:
61547521201, 1



B1547521202. 2
61547521203, 3
61547521204, 4

Question Number : 77 Question Id : 6154755437 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following administrative level i1z called as the nerve centre of the State
Adminmistration?

(1) State Secretariat (2} State Directorate
(3) Divisional Commissioner (4) Dastrict Collectorate
Options:

E1547521205. 1
B1547521206. 2
B1547521207. 3
61547521208, 4

Question Number : 77 Question Id : 6154755437 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B1547521205. 1
61547521206, 2
61547521207, 3
61547521208, 4

Question Number : 78 Question Id : 6154755438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following commissions recommended that the Vice-President of India and
Speaker of the Lok Sabha should be consulted by the Prime Mimister while selecting the
State Governor?

(1) First Admimstrative Reforms Commission
(2) Second Administrative Reforms Commission
(3) Sarkaria Commission
(4) Punchhi Commission

Options:

61547521209, 1
E1547521210. 2
B1547521211. 3
B154752121%. 4



Question Number : 78 Question Id : 6154755438 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

£1547521209. 1

61547521210, 2

B1547521211. 3
B154752121%. 4

Question Number : 79 Question Id : 6154755439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following 1= NOT a function of the Chief Minister of a State?

(1) Recommending names to his party President for appointing them in the Council of
Ministers of the State
(2) Recommending names for allocating portfolios of the Ministers

(3) Presiding over the meetings of the Council of Ministers of the State
(4) Guiding, Controlling and Coordinating the activities of the Ministers
Options:
615475212131
61547521214 2
61547521215 2
615475217216 4

Question Number : 79 Question Id : 6154755439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475212131
61547521214 2
61547521215 2
61547521216, 4



Question Number : 80 Question Id : 6154755440 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 15 NOT a Sustainable Development Goal (SDG) set by United
Nations General Assembly 1n 20157

(1) No poverty (2) Unbanization
(3 Life on Land (4) Climate Action
Options:

B1547521217. 1
61547521218, 2
615475212149 3
61547521220, 4

Question Number : 80 Question Id : 6154755440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475212171
61547521218, 2
61547521219, 3
B1547521220. 4

Question Number : 81 Question Id : 6154755441 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following thinkers 1s related to the inmitiation of Ecological Approach to the
study of public administration?

(1) Lee Friedman

(2) William A. Niskanen

(3) Gordon Tullock

(4) J.M. Gaus

Options:

61547521221, 1
61547521222 2
61547521222 2
E1547521224 4

Question Number : 81 Question Id : 6154755441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
B1547521221. 1
1547521222 2

B1547521223. 3
B1547521224. 4

Question Number : 82 Question Id : 6154755442 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 15 NOT concerned with Development Administration?

(1) Ecological Administration (2) Institution Building
(3) Market Orientation (4) Innovation
Options:

E1547521225. 1
B1547521226. 2
B1547521227. 3
B1547521228. 4

Question Number : 82 Question Id : 6154755442 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475212251
B1547521226. 2
B1547521227. 3
B1547521228. 4

Question Number : 83 Question Id : 6154755443 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Which one of the following 1s the lowest rank in the French Ministerial Hierarchy?

(1) Prime Minister (2) Ministers

(3) Secretaries of State (4) Ministers of State



Options:

61547521229, 1
61547521220 2
61547521221, 2
61547521232 4

Question Number : 83 Question Id : 6154755443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547521229 1
E1547521230. 2
BE1547521221. 3
B154752123%2. 4

Question Number : 84 Question Id : 6154755444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following Amendment sets the limit to two terms for the election of President of
United States of America?

(1) 215 Amendment {2y  22m Amendment
(3) 23" Amendment {4y 224%™ Amendment
Options:

E1547521233. 1
61547521234, 2
BE1547521235. 3
B1547521236. 4

Question Number : 84 Question Id : 6154755444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547521232 1
BE1547521234. 2
BE1547521235. 3
B1547521236. 4



Question Number : 85 Question Id : 6154755445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following Industrial Policy made a sea change in terms of liberalisation of
licensing policy?

(1) Industrial Policy Resolution. 1956
(2) Industrial Policy Statement. 1977
(3) Industrial Policy of 1980

(4) Industral Policy. 1991
Options:
61547521237, 1
61547521238 2
61547521239 2
61547521240 4

Question Number : 85 Question Id : 6154755445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e
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(2) ANt Hifd FeE, 1977
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Options:
L1E47FEZ1227. 1
Ll1E547EZ1238. 2

61547521235, 3
61547521240, 4

Question Number : 86 Question Id : 6154755446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following 1s the oldest and traditional form of Public Enterprises?

(1) Departmental Undertaking (2) Public Corporation
(3) Government Company (4) Holding Company
Options:

615475212411
61547521242 2
E1547521243. 3
BE1547521244. 4

Question Number : 86 Question Id : 6154755446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

(1)  foarfm 398 (2) =
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Options:

61547521241, 1
E1547521242. 2
B1547521243. 3
B1547521244. 4

Question Number : 87 Question Id : 6154755447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s NOT a method of Ministerial Control over public enterprises?

(1) Policy direction

(2) Appointment of members on Governing Boards
(3) Discussion on annual and other reports

(4) Acquiring information and evaluation

Options:

BE1547521245. 1
B1547521246. 2
G1547521247. 3
61547521248, 4

Question Number : 87 Question Id : 6154755447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547521245 1
61547521246, 2
61547521247, 5
61547521248 4

Question Number : 88 Question Id : 6154755448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following 1s NOT an objective of the disinvestment?

(1) Revenue collection (2) Enhancing efficiency
(3) Direct public participation (4) Corporate objectives
Options:

BE1547521245. 1
B1547521250. 2
B1547521251. 3
61547521252, 4

Question Number : 88 Question Id : 6154755448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B15475212459. 1
61547521250, 2
61547521251, 3
E154752125%2. 4

Question Number : 89 Question Id : 6154755449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following 1s NOT a part of the Performance Budget Model in India?

(1) Comprehensive purpose intended programmes and projects
(2) Linkages between the Five Year Plans
(3) Analytical financial plans
(4) Organisational alignment by programme
Options:

61547521253 1
E1547521254. 2
B1547521255. 3
B1547521256. 4

Question Number : 89 Question Id : 6154755449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547521253, 1
61547521254 2
E1547521255 2
61547521256 4

Question Number : 90 Question Id : 6154755450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following 1s NOT the vision of Draft National Education Policy. 20197

(1) Research Universities (2) Teaching Universities
(3) Research cum Teaching Universities (4) Colleges
Options:

61547521257, 1
E1547521258. 2
B1547521259. 3
B1547521260. 4

Question Number : 90 Question Id : 6154755450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547521257, 1
61547521258, 2
E1547521259. 3
B1547521260. 4

Question Number : 91 Question Id : 6154755451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following set of values. ‘Gini Coefficient’ a statistical tool to measure the
degree of varation 1s used?

(1) Poverty rate (2) Median income
(3) Income inequality (4) Dependency ratio
Options:

61547521261, 1
E1547521262. 2
61547521262, 3
E1547521264. 4

Question Number : 91 Question Id : 6154755451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

61547521261, 1
61547521262, 2
B1547521263. 3
B1547521264. 4

Question Number : 92 Question Id : 6154755452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which Article of the Indian Constitution relates to the appointment of a commission to
investigate the conditions of Backward Classes?

(1) Article 335 (2)  Article 336
(3) Article 339 (4) Article 340
Options:

61547521265, 1
E1547521266. 2
E1547521267. 3
BE1547521268. 4

Question Number : 92 Question Id : 6154755452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o geigd 7 7

o

(1) = 7=2= - 335 (2) =% - 336
(3) =32 - 339 (4) =sE - 340
Options:

E1547521265. 1
B1547521266. 2
B1547521267. 3
G15475212658. 4

Question Number : 93 Question Id : 6154755453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



How many members of the United Nations General Assembly adopted The 2030
Development Agenda named "Transforming Our World : The 2030 Agenda for Sustainable
Development in 20157

(1) 190 (2) 191
(3) 192 (4) 193
Options:

BE154752126%9. 1
B1547521270. 2
G1547521271. 3
B1547521272. 4

Question Number : 93 Question Id : 6154755453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 190 (2) 191
(3) 192 (4) 193
Options:

615475212691
E1547521270. 2
B1547521271. 3
B1547521272. 4

Question Number : 94 Question Id : 6154755454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Institute/University initiated introduction of ‘Education and Training’
in Social Welfare Administration?

(1) Tata Institute of Social Sciences (2) Delhi University
(3) University of Baroda (4) Panjab University
Options:

B1547521273. 1
B1547521274. 2
61547521275 3
E1547521276. 4

Question Number : 94 Question Id : 6154755454 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547521273. 1
B1547521274. 2
B1547521275. 3
G1547521276. 4

Question Number : 95 Question Id : 6154755455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following 1s NOT a feature of a interest group?

(1) Formally or informally organised

(2) Interest oriented

(3) Depend on governmental financial support

(4) May or mayv not influence the government policies
Options:

B1547521277. 1
B1547521278. 2
E1547521279. 3
61547521280, 4

Question Number : 95 Question Id : 6154755455 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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e i~

(2) IEGIGEEE]
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(4)  mrErl HifoEl = warEE = awd 2 e 99 o w0 g
Options:
61547521277, 1
£1547521278. 2

B1547521273. 3
B1547521280. 4

Question Number : 96 Question Id : 6154755456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who said that “Whatever governments choose to do or not to do” 13 termed as public policy?

(1) Harold Lasswell {2) Thomas Dye
(3) B. Gyve Peters (4) F. Malone
Options:

E1547521281. 1
B1547521282. 2
B1547521283. 3
B1547521254. 4

Question Number : 96 Question Id : 6154755456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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AT 27
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Options:

BE1547521281. 1
B1547521282. 2
B1547521283. 3
61547521284, 4

Question Number : 97 Question Id : 6154755457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s NOT true regarding participation of news media in policy process?

(1) News media 1lluminate the actions of the government

(2) The democracy without news media may get crippled

(3) The media have access to all public policy making information and proceszses

(4) News media do not have formal and guaranteed role in policy making
Options:

61547521285, 1
E1547521286. 2
B1547521287. 3
B1547521288. 4

Question Number : 97 Question Id : 6154755457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547521285, 1
61547521286 2
61547521287, 2
615475212588, 4

Question Number : 98 Question Id : 6154755458 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who 13 associated with the model of decision making in which policy change 13 accomplished
through small inereamental steps that allow decision makers to adjust pohicies as they learn
from their success and failures?

(1) James March (2) Herbert S1mon
(3) Charles Lindblom (4) Thomas Dve
Options:

E1547521289. 1
B1547521230. 2
61547521231, 3
G154752123%2. 4

Question Number : 98 Question Id : 6154755458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) == 9 (2) FE2 HiEEA
(3)  =TH foissan (4) wioE 37
Options:

61547521259, 1
E1547521230. 2
B15475212391. 3
B15475212382. 4

Question Number : 99 Question Id : 6154755459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following theory zees public policy as the product of a continuous struggle
among organised interest groups?

(1) Group Theory (2) Institutional Theory
(3) Rational Choice Theory (4) Political System Theory
Options:

B15475212593. 1
B1547521254. 2
61547521235 3
E1547521236. 4

Question Number : 99 Question Id : 6154755459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) = fogm (2) TEE fagm
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Options:

B15475212593. 1
B1547521254. 2
61547521235 3
E1547521236. 4

Question Number : 100 Question Id : 6154755460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Advocacy Coalition Framework (ACF) 12 a modern variant of which of the following theory?

(1) Elite Theory (2) Group Theory
(3) Institutional Theory (4) Rational Choice Theory
Options:

615475212397, 1
E154752123958. 2
E15475212395. 3
B1547521200. 4

Question Number : 100 Question Id : 6154755460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TEATRET FIATH FHaE (0HLTE, ) etatas § 9 e faga 1 v sngfes aiad 27

(1)  stiyema fargma (2) w9 fagm
(3)  mwmF fgm (4) aTEF ey fogm
Options:

E1547521297. 1
B15475212398. 2



BE15475212395. 3
B1547521200. 4

Question Number : 101 Question Id ;: 6154755461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following Union Ministry notified the new Solid Waste Management Rules
(SWM). 20167

(1) Ministry of Urban Development

(2) Ministry of Planning

(3) Ministry of Science and Technology

(4) Ministry of Environment. Forest and Climate Change
Options:

£1547521201. 1
61547521302, 2
E1547521203. 3
E1547521204. 4

Question Number : 101 Question Id : 6154755461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
faefefEa # @ TFE Fegig 5are A A0 30 S TEyE A (v 3eeg ve), 2016 F wiggiEa e
a7
(1)  w=f fowm e

(2) AT T
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Options:
61547521201, 1
61547521302 2
61547521203 2
61547521204 4

Question Number : 102 Question Id : 6154755462 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The term ‘Public Value” was first coined by which one of the following thinkers?

(1) T. Mehnhardt (2) B. Bozemen
(3) Mark H. Moore (4 C. Talbot
Options:

£1547521305. 1
E1547521208. 2
B1547521207. 3
B1547521208. 4



Question Number : 102 Question Id : 6154755462 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475212051
E1547521306. 2
E1547521207. 3
E1547521208. 4

Question Number : 103 Question Id : 6154755463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Patrick Dunleavy 1z NOT associated with which one of the following theories?

(1) Bureau — Shaping Model of Bureaucracy
(2) Idea of Digital Era of Governance
(3) Rational Choice Theory of Politics
(4) Public Service Theory
Options:
1547521209 1
61547521310 2
1547521211 2
61547521212 4

Question Number : 103 Question 1d : 6154755463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547521209, 1
61547521210 2
61547521211, =
61547521212 4

Question Number : 104 Question Id : 6154755464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the proposed ‘term of office’ of Chief Information Commissioner under the new Right
to Information Bill. 20197

(1) 4 vears

(2) D years

(3) to be decided by the Central Government by notification
(4) 6 vears

Options:

615475212121
E1547521214. 2
E1547521215. 3
61547521216, 4

Question Number : 104 Question Id ;: 6154755464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 4=9
(2) 59
(3) g TN EAT AHEAT F ATem A e w e
(4) 639
Options:

BE1547521213. 1
61547521214, 2
61547521215 3
E1547521216. 4

Question Number : 105 Question Id : 6154755465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“The observer and observed both being similar . (Therefore) an objective
approach 1s really difficult to make” 1n social science research. The statement reflects which
of the following?

(1) Objective approach used 1n social science research
(2) Heterogeneity of social science rezearch

(3) Complex nature of social science research

(4) Predictability potential of social science research
Options:

615475212171
61547521218, 2
61547521319, 3
E15475212320. 4

Question Number : 105 Question Id : 6154755465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547521317, 1
61547521318 2

61547521219 3
E1547521320. 4

Question Number : 106 Question Id : 6154755466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following statements 1s NOT correct about probability?

(1) It expresses the frequency of the occurence of a given event

(2) It 1s fundamental to all kinds of sampling processes

(3) It 15 essentially a mathematical one

(4) It refers to the likelihood that a given statement may or may not be a true statement
Options:

615475212211
E1547521322 2
61547521322 3
E15475212324. 4

Question Number : 106 Question Id : 6154755466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475212321, 1
61547521322 2
E1547521222. 2
61547521224, 4

Question Number : 107 Question Id : 6154755467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following research technigques includes the most casual. uncontrolled
experiences as well as the most exact film records of laboratory experimentation?

(1) Survey (2) Observation
(3) Interview (4) Experimentation
Options:

615475213251
E1547521326. 2
B15475212327. 3
B15475212328. 4

Question Number : 107 Question Id ;: 6154755467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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T97 =9 Theg fipeg miga 27

(1) ==& (2) e
(3)  =EERR (4) =M
Options:

6154752123251
61547521326, 2
E1547521327. 3
E1547521328. 4

Question Number : 108 Question Id : 6154755468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following iz NOT checked for undertaking careful scrutinyv/editing of
interview or observation schedules?

(1) Comprehensibility
(2) Legibility

(3) Confidentiality

(4) Inconzistencies

Options:

61547521329 1
615475212200 2
615475212321,
61547521332 4

Question Number : 108 Question Id ;: 6154755468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) T
(4)  wrEioET
Options:

615475213291
E1547521230. 2
BE1547521221. 2
B1547521232. 4

Question Number : 109 Question Id ;: 6154755469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who have edited the book on ‘Papers on the Science of Administration™

(a) Henr1 Fayol

(b) Luther Gulick
(c) J.D. Mooney
(d) Lyndall Urwick

Choose the correct option :

(1) (a) and (d) (2) (c) and (a)
(3) (b) and (d) (4) (c) and (b)
Options:

BE1547521223. 1
61547521224, 2
61547521235 3
E1547521336. 4

Question Number : 109 Question Id : 6154755469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) (b) 74T (d) (4) (c)a4 (b)
Options:

BE1547521233. 1
61547521224, 2
61547521335 3
61547521356, 4

Question Number : 110 Question Id : 6154755470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Peter Drucker placed high importance on which of the following?
(a) A process called "SMART"

(b) Management by Objectives (MBO)

(c) Enowledge worker

(d) Decentralization

Choose the correct option :

(1) (b) only (2) (b)) and (c) only
(3) {a). (b) and (c) (4) (a). (b). (¢) and (d)
Options:

61547521337, 1
E1547521238. 2
BE1547521239. 3
61547521240, 4

Question Number : 110 Question Id : 6154755470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) (2. (b) 79 (c) @ (@), (), (c) 74 (d)
Options:

B1547521237. 1
61547521228, 2
61547521339, 3
61547521340, 4

Question Number : 111 Question Id : 6154755471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are the principles of Scientific Management?

(a) harmony

(b) individualism

(c) maximum output

(d) science. not rule of thumb

Choose the correct option :

(1) (a) and (b) only (Z) (b)) and (c) only
(3) (a). (c) and (d) (4) (a). (b) and (d)
Options:

B1547521241. 1
61547521242 2
615475213242 3
61547521344, 4

Question Number : 111 Question Id : 6154755471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3)  (a). (c)a (d) (4) (a). (b) 7 (d)
Options:

515475212411
61547521342 2
61547521342 3
E1547521244. 4

Question Number : 112 Question Id : 6154755472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Governor of a State can act without the Cabinets' advice in which of the following

matters?

(a) Reservation of a bill for the consideration of the President under Article 200
(b) Making a report to the President under Article 356
(c) Matters on which he has to act on his special responsibility

(d) Dismissal of an individual manister
Choose the most appropriate option :

(1) (a). (b). (c) and (d)
(2) (a). (b) and (c)
(3) (a). (c) and (d)

(4) (b). (c) and (d)
Options:
61547521345 1
61547521346, 2
615475213247 3
61547521348 4

Question Number : 112 Question Id : 6154755472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(1) (a). (b), (c) 41 (d)
(2)  (a). (b) T4 ()
(3) (a). (c) a9 (d)

(4) (b). (c) T4 (d)

Options:

61547521245, 1
615475212346 2
61547521347, 2
61547521248 4

Question Number : 113 Question 1d : 6154755473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are the features of Atal Mission for Rejuvenation and Urban

Transportation?
(a) to ensure that every household has access to a water tap
(h) to 1ncrease the amenity value of cities by developing greenary and well maintained

open spaces (example. parks)
(c) to reduce pollution

(d) to renovate heritage sites
Choose the correct optlon :

(1) (a). (b) and (d)
() {c). (b) and (d)
(3) (a). (b) and (c)

(4) (d). (c) and (a)
Options:

61547521349 1
E1547521350 2
BE1547521351. =
61547521352 4

Question Number : 113 Question 1d : 6154755473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) (a). ()71 (@)
(2) (c), (b) 7471 (d)
(3) {(a). (b) T4 (c)
(4) (d). (c) 74T (a)
Options:
51547521349, 1
61547521350, 2

E1547521351. 3
E1547521352. 4

Question Number : 114 Question Id : 6154755474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What are the functions of the Estimates Commmitee?

{a)

(b)

(ch

(d)

To report what economies. lmprovements 1n organization efficiency and
administrative reforms consistent with the policy underlyving the estimates mayv be
affected

To suggest alternative policies in order to bring out efficiency and economy in

administration
To examine the appropriation accounts and finance accounts

To examine the moneyv spent on any service during financial vear in excess of the

amount sanctioned

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

{a) and (d)
{c) and (d)
{a) and (b)

(b) and (c)

E1547521352. 1
61547521354, 2
E1547521355. 3
B1547521356. 4

Question Number : 114 Question Id ;: 6154755474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a)@ (d)
(2) (c) 741 (d)
(3)  (a)ad (b)
(4) (b) 74T (c)

Options:

615475213531
E1547521254 2
61547521355, 5
61547521356 4

Question Number : 115 Question Id ;: 6154755475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are the benefits of Corporate Social Responsibility?

(a) An advantage over competitors

(b) Increased customer engagement

(c) Increased brand awareness and recognition
(d) Improved public image

Choose the most appropriate option :

(1) (a) and (b) (2y  (a) and (d)
(3) {(b). (c) and (d) (4) (a). (b). (c) and (d)
Options:

BE1547521357. 1
61547521358, 2
615475212359, 3
61547521360, 4

Question Number : 115 Question 1d : 6154755475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FITRZ IS 2M4ed &+ H=egd 5 5 FH 3 A9 7 7
(a) TIAETEAT O A

(b) =2 T WEF AEE (AL

{E) Eﬁ? A= T‘[?]T a:qu-ll - -E[ q:ll_';

(d) =9 AFSE

HﬂWﬁaﬁdqﬂﬁ.Fﬁ$73'§ﬁ”,:

(1) (a) @41 (b) (2) (a)a9 (d)
(3) (b). (c) 741 (d) (4) (a). (b). (c) T4 (d)
Options:

615475213571
61547521358, 2
61547521359, 3
E1547521260. 4

Question Number : 116 Question Id : 6154755476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F.W. Riggs 1n hiz book ‘Prismatic Society Revisited’ used which of the following dimensions
for the study of prismatic society?

(a) Differentialisation
(b) Substitution
(c) Integration

(d) Continuity

Choose the correct option :

(1) (a) and (d) (2) (b) and (c)
(3) (a) and (c) (4) (a) and (b)
Options:

61547521261, 1
61547521362, 2
E1547521363. 3
E1547521264. 4

Question Number : 116 Question Id : 6154755476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt TS F e F o vhseg. fom 3 avh v fabs o fafes’ § fefefe |
1 H A F = A e

(a)  TEHSEm (b) Wi
(c) ey (d) e
(1)  (a)74 (d) (2) (b) a4 (c)
(3) (a) 741 (c) (4) (a) a4 (b)

Options:

61547521261, 1
61547521362 2
61547521363 2
61547521364 4

Question Number : 117 Question Id : 6154755477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following factors are NOT relevant in the success of planning 1n a mixed

economy?’
(a) to which extent the public sector 1s able to pursue the socially determined goals
(b) to which extent the state 1z able to guide the private sector to follow the socially

determined goals

(c) complete socialisation of means of production and state direction of production and
distribution
(d) the extent of the state ability to check the distortions in investment decisions

Choose the correct option :

(1) (a). (b) and (c)
(2) {b). (c) and (d)
(3) (a). (b) and (d)

(4) (c) and (d) only

Options:

6154752135651
61547521366, 2
61547521367, 5
61547521368, 4

Question Number : 117 Question Id ;: 6154755477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(2)  HETSE 9 H FUiE SE S HE 2 i e g
(b) T =9 ° FaiiE =aa # w5 F4 F oo F5 &m % gviees 8@ o= e dm 5% mmd 2

(©)  ITUWH T W P W WIHISHFO G I T e F o T F FHe

(dy 9= F9ET 9 Ta=es =i A9 w0 ° T R HiE 9 94 7
(1) (a). (b) A9 (c)
(2)  (b). (c) T (d)
(3) (a). (b) T4 (d)

(4)  FA (o) 7 (d)
Options:
615475213651
61547521366, 2
E1547521267. 2
61547521368, 4

Question Number : 118 Question Id : 6154755478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are the unofficial actors participating in policy making proceas?

(a) Parliament
(b) Institutional groups
(c) Supreme Court

(d) Individual Citizens

Choose the correct option :

(1) (a) and (b) (2} (b)and (c)
(3) (c) and (d) (4) (b) and (d)
Options:

61547521265 1
E1547521370. 2
61547521371, 3
B1547521372. 4

Question Number : 118 Question Id : 6154755478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
fifa Frafo wiw 9 9/ =4 9 FefeiEd § @ :9 5 w5 -t B

(a) E2re T

(b)  TEUTT OUE

(c) T==Ag AT

{d} é;l'llr’-:h'#‘l -||4||r4‘-_h

(1) (a) T41 (b) & W

(3) (c) 741 (d) M
Options:

615475212645, 1
615475212370 2
61547521371, 3
BE1547521372. 4

Question Number : 119 Question Id : 6154755479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following scholars have been associated with Top-Down approaches of poliey
implementation’

(a) Carl Van Horn

(h) Richard Elmore

{c) Mark Thompson
(d) Daniel Mazmanian

Choose the correct option :

(1) {a) and (b) (2) (b)) and (c)
(3) (c) and (d) 4y (a)and (d)
Options:

6154752123731
615475212374, 2
61547521375 3
61547521376, 4

Question Number : 119 Question Id : 6154755479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) A 49 FH

(b) T=E TemR

(c) T AT

(d) =fFE= gEEEE

(1)  (2)7 (b) (2)  (b) T4 (c)

(3) (c) 74T (d) (4) (a) 397 (d)
Options:

B1547521273. 1
615475212374, 2
61547521375 3
E1547521376. 4

Question Number : 120 Question Id : 6154755480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The focus of UNDP 13 on which of the following?

(a) Poverty reduction

(b) HIV and AIDS

(c) Crisis prevention and recovery

(d) Providing grants to poor countries for capital projects

Choose the most appropriate option :

(1) (a) and (d) (2) (b) and (d)
(3) (a). (b) and (c) (4) (a). (b). (c) and (d)
Options:

B15475212377.1
B1547521278. 2
615475212375, 3
E1547521380. 4

Question Number : 120 Question 1d : 6154755480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(@)  THIST H T
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(c) Tz Hamw aun Ty

(d) YT TR & o T 29 R AR SYesd FAEE

(1) (a) 741 (d) (2) (b)=am (d)
(3) (a). (b) 9T (c) (4) (a), (b). (c) 791 (d)
Options:

B15475212377.1
B1547521278. 2
615475212375, 3
E1547521380. 4

Question Number : 121 Question 1d : 6154755481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The 1dea of maximum governance. minimum government implies which of the folowing?

(a) reduction in layers of decision-making

(b) procedure sumplification

(c) controlled information dissemination

(d) increase in the size of experts 1n administration

Choose the most appropriate option :

(1) {a). (b). (c) and (d) (2) (a). (b) and (c)
(3) {a) and (b) (4) (b) and (d)
Options:

61547521281, 1
61547521382 2
E15475Z21383. 3
E15475212384. 4

Question Number : 121 Question Id : 6154755481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b) A WOTTAT T HIA T

(¢)  THEFE F= 0 78R

(d)  wETHA H R F S | Jig

AT 399 AFeT g0

(1) (a), (b). (c) 74T (d) (2) (a). (b) T4 (c)
(3) (a) 941 (b) (4) (b)Ta (d)
Options:

E1547521381. 1
E1547521382. 2
B1547521283. 3
61547521284, 4

Question Number : 122 Question 1d : 6154755482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Business Process Reengineering (BPR) aims at which of the following?

(a) improvement of customer service
(b) cutting of operation costs

(c) becoming world-clazs competitors
(d) 1improving production

Choose the correct option :

(1) (c) and (d) only (2) (a) and (d) only
(3) (a). (b) and (c) only (4) (a). (b). (c) and (d)
Options:

BE1547521385. 1
E1547521386. 2
B15475212387. 3
61547521288, 4

Question Number : 122 Question 1d : 6154755482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) W= HET H FUW (b) WA HNE H FH

(¢)  Tava-=at =& uiaegsli s (d) =TS H gEW A

(1) == (c) 741 (d) (2)  Fae (a) 991 (d)

(3) A (a). (b) 7 (0) @ (@, ®). (© 7 (d)
Options:

B1547521285. 1
615475212386, 2
E1547521387. 3
61547521388, 4

Question Number : 123 Question Id : 6154755483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What are the challenges to bridging the Digital Divide in India?

{a) Infrastructure
(b) Literacy and skill
(c) Economic condition

(d) Language

Choose the correct option :

(1) (a) and (c) only (2) (a). (b) and (¢) only
(3) (b). (¢) and (d) only (4) (a). (b), (¢) and (d)
Options:

BE1547521289. 1
61547521280, 2
61547521391, 3
E1547521339%2. 4

Question Number : 123 Question Id : 6154755483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e | TSfee 310t =1 6 F ° 591 gAaal B
(a)  EETEAT (b)  HIMEAT TUT FrATA
()  wfa feufa (d) w
(1)  Fad (a) 91 (c) (2) A (a). (b) 79T ()

(3)  Faa (b), (c) 79T (d) @) (). (b), (c) 77 (d)

Options:



E15475212389. 1
61547521280, 2
61547521251, 3
615475213392 4

Question Number : 124 Question Id : 6154755484 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which two of the following are scientific frame of reference?

(a) It confines to the solution of the practical problems only

(b) It involves controlled experimentation

(c) It looks for broader generalisation

(d) The =scientific experimentation restricts 1tself to the exizting body of generalisation

Choose the correct option :

(1) {a) and (b) (2) (b) and (c)
(3) (c) and (d) (4) (a)and (d)
Options:

BE1547521293. 1
61547521254, 2
615475213385 3
E15475213396. 4

Question Number : 124 Question Id : 6154755484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ffaliga 9 o #9 ® =7 1 331HF 9= O =g 27

(a) T g SAERT WA o R a9 Hied E

(b) =0 FatE = e

(c) Tz =19 AHEE F gl 7

(d) SR TET T R AR % A B A st el B

Tl TaFed FHT

(1) (a) 741 (b) (2) (b) A4 (c)
(3) (¢) A9T (d) 4 (a) 74 (d)
Options:

61547521392 1
E15475213584. 2
E15475213895. 3
B15475212396. 4

Question Number : 125 Question Id : 6154755485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are the utilities of the Pure Research?

(a) It helps to find central factors in practical problem
(b) It can put theory to test

(c) It may aid 1n conceptual clarification

(d) It develops many alternative solutions

Choose the correct option :

(1) (a) and (b) (2) (b)) and (c)
(3) (c) and (d) (4) (a)and (d)
Options:

B15475212397. 1
61547521288, 2
615475212399 3
61547521400, 4

Question Number : 125 Question Id : 6154755485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feAtetEa 9 = fwg =g 1 Fi o S5 2 7

(a) TR GHET & 2 dcd @94 | 98l 4T 7

(b) T Tagra = T T 5= 9% of o T B
(€) TE ATHNONHF TR0 § TEEF =TT 2
(d)  TF 3F dFoTF TUgE HEEd w2

(1) (a) 741 (b) (2)  (b) T4 (c)
(3) (ea@m @ (4 (2749 (D
Options:

6154752123971
61547521398, 2
E1547521398. 3
E1547521400. 4

Question Number : 126 Question Id : 6154755486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements about the merits of hypotheses in a research study are
correct?

(a) It makes the research focussed

(h) The results can be stated as facts with clear meaning

(c) It 15 the necessary link beween theory and investigation

(d) It improves the research technigques used to test the hypothesis

Choose the correct option :

(1) (a). (b) and (c) (2)  (b). (c) and (d)
(3) (c). (d) and (a) {(4) (a). (b) and (d)
Options:

51547521401, 1
61547521402 2
61547521403, 3
E1547521404. 4

Question Number : 126 Question Id : 6154755486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
sites sy e 7 o A A et § # A w7
(@)  FE TG F Fmd R
(b) aftoi w5t Az ¥ = § w1 99 F WY FE T

(c) TE THgM 3N 3790 % o9 JESF Fol 2
(d)  =F TiEFET F T § U Wh T § U A A

() (a). (b) 3T (o) (2) (b), (¢) T (d)
(3) (o). (@) 7 (a) @) (a), (b) = ()
Options:

E1547521401. 1
B154752140%2 2
51547521403, 3
61547521404, 4

Question Number : 127 Question 1d : 6154755487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following said that “"Science begins with observation and must ultimately
return to observation for 1ts final validation™?

{a) Eobert K. Merton
(b) Nelz Anderson
(c) William J. Goode
(d) Paul K. Hatt

Choose the correct option :

(1) (a) and (b) (2) (b) and (c)
(3) {c) and (d) (4) (d) and (a)



Options:

61547521405, 1
61547521406 2
E1547521407. 2
61547521408, 4

Question Number : 127 Question Id : 6154755487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ffeafiga o o froe a1 o1 7 “Ta9m 29e=9 § UAEY B & 20 30 39 Afan dua & oo = aae:

(a)  T=2 ®. 4
(b)  HoH U=TEA
(c) fafem = 1:13
(d) U= . B

(1) (a) 3 (b) (2)  (b) 37 (c)
(3)  (c) R (d) 4) (d) = (a)
Options:

E1547521405. 1
B1547521406. 2
61547521407, 3
61547521408, 4

Question Number : 128 Question 1d : 6154755488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following areas the ethical i1ssues normally arise?

(a) Likelvhood of harming those participating in research
(b) Lack of informed consent
(c) Situation in which researcher gives information to respondents in order to elicit a

particular response
(d) Drawing conclusions from mnsufficient data
Choose the correct option :

(1) (a). (b) and (c)
(2) (b). (¢) and (d)
(3) {c). (d) and (a)

(4) (a). (b) and (d)
Options:
615475214091
61547521410 2
61547521411 3
61547521412 4

Question Number : 128 Question 1d : 6154755488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b) ~ EEHEA HEAT F1 A

(d)  HATETE SATER-TE (227) 9 e O

1) (a). b) 3 (o)

(2) (b (e) # (d)

(3) (0. (d) #T (a)

4 (a). (b) 3T (d)

Options:

61547521409, 1
61547521410 2
61547521411, =
61547521412 4

Question Number : 129 Question Id : 6154755489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are correct reminders while writing a research report?

(a) Hypothesis should be presented in the report in an implicit manner

(b) Intellectual justification of hypothesis must be given in the report

{(c) The writer should develop a set of terminology to describe the contents of the report
(d) Temptation to claim more than what 1s performed in research study. while writing the

summary must be avoided
Choose the correct option :
(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)

(4) (b) and (d)

Options:

615475214131
61547521414, 2
61547521415
61547521416 4

Question Number : 129 Question 1d : 6154755489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  (a) = (b)
(2) (b) T (c)
(3)  (¢) 3 (d)

(4 (b) 3T (d)

Options:

615475214131
61547521414 2
61547521415 =
E1547521416. 4

Question Number : 130 Question Id : 6154755490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following institutions with the vears of their constitution :

(a) NITI Aavog (1) November, 2018
(b)  Governing council of NITI Aayog (1) February, 2018
(c) NITI Forum for North East (1) January. 2015
(d) Himalayan State Regional Council (tv) February, 2015

Choose the correct option :

(1) (a)-(111). (b)-(iv). (e)-(i1). (d)-(1)
(2) (a)-(m). (b)-(1). (c)-(111). (d)-(1v)
(3) (a)-(1). (b)-(u). (c)-(1v), (d)-(111)
(4) (a)-(1v). (b)-(111). (e)-(1). (d)-(11)
Options:

615475214171
61547521418, 2
61547521419 3
61547521420, 4

Question Number : 130 Question Id : 6154755490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(@) it = (1) ===, 2018

(b) ifa sar=mT =t wrET afimg (i) AT, 2018

(¢) 3T 9E % foru Hifa 5= (1) EA, 2015

(d) TEmTeET T A TheE (iv) w1, 2015
T2l Tashed A :

(1)  (a)-(1), (b)-Gv). (c)-(11). (d)-(1)
(2)  (a)-1), (b)-Q). (¢)-(iid). (d)-(iv)
(3)  (a)-(). (b)-Gd). (¢)-Av). (d)-(iid)
4 (a)-(v). (b)-(di). (¢)-(). (@)-({)

Options:

61547521417, 1
61547521418 2
1547521419 2
61547521420, 4

Question Number : 131 Question Id : 6154755491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following Thinkers with the Principles thev proposed :

(a) Henr Fayol (1)  Scientific Selection of the Workers
(b) Luther Gulick (1) Bounded Rationality

(c) Frederick Tavlor (i) Staff and Line

(d) Herbert Simon (iv) Espirit de Corps

Choose the correct option :

(1) (a)-(1v). (b)-(111), (e)-(11). (d)-(D)
(2) {a)-(1v). (b)-(111). (e)-(1). (d)-(11)
(3) (a)-(1v). (b)-(11). (e)-{1). (d)-(111)

(4) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)

Options:

61547521421,
61547521422,
51547521423,
£1547521424.

[ N

Question Number : 131 Question Id : 6154755491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



At faaeht #1575 g gfamiza fagmt 9 gafaq it

(2) # HAT (i)  AfEeE w1 E T
(b) W A (i) Hifaa sifgwa
(c) WsftF Zor (ili) F2TF AN =
(d) = FTHA (iv) uferfe fs =

(1) (@)-(w). (b)-(u). (c)-(w). (d)-()
(2)  (a)-(wv). (b)-(a1d). (¢)-(1). (d)-(11)
(3)  (@-(wv). (b)-(1). (e)-(). (d)-(111)
4 (a)-), (b)-G1). (c)-(v). (d)-1)

Options:
1547521421, 1

E1547521422 2
B1547521423. 3
B1547521424. 4

Question Number : 132 Question 1d : 6154755492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Which one of the following pairs 12 NOT correctly matched?

(1) The Functions of the Execuive : Chester Barnard
(2) Locus and Focus : Robert Golembiewsk:
(3) Rent Seeking : Gordon Tullock

(4) Minnobrook II : Rosemary O'Leary

Options:

61547521425, 1
61547521426 2
61547521427, 2
61547521428, 4

Question Number : 132 Question Id : 6154755492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

fAfafaa 5 o F90 79 961 271 ¥ gafed T 2 ¢

(1) & %FE A 2 UHEied = s

(2)  AFE UZ BEE ; a2 et
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Options:

51547521425, 1
E1547521426. 2
61547521427, 5
61547521428, 4

Question Number : 133 Question Id ;: 6154755493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following report of second ARC 1s NOT correctly matched?

(1) State and District Administration : 15® Report

(2) Citizen — Centric Administration : 10®t Report

(3) Local Governance : 6™ Report

(4) Strengthening Financial Management System : 14™ Report
Options:

615475214251
61547521420, 2
61547521421, 3
61547521432, 4

Question Number : 133 Question Id : 6154755493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrafaraa 3 & T wemalE gan e i FEE foe w8 F# i o gt 16 2 7
(1) 79 ug THen womeq ;1547 fge

(2)  AFTER-hia womE 104 ford

(3) T IEA : =E e

(4)  Tavim weras womett i wwed w1441 foe

Options:

61547521429, 1
61547521420 2
61547521431, =
61547521432 4

Question Number : 134 Question 1d : 6154755494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the following committees with their recommendation :

(a) Balvant Rai Mehta Commaittee (1)  Establishment of two tier Panchavati

Raj system

(by  Ashok Mehta Committee (1) Elections to the Panchavat1 Raj
Institutions

(c) G.V.K.Rac Committee (1m1) PRIz should be constituted regularly

(d) L.M. Singhvi Committee (iv) Establishment of three tier system of
PRIs

Choose the correct option :

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1V)
(2) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(3) (a)-(11). (b}-(1v). (c)-(1). (d)-(111)
(4) (a)-(1). (b)-(11). (¢)-(11). (d)-(1v)

Options:

51547521433 1
61547521424, 2
61547521425
61547521436 4

Question Number : 134 Question Id : 6154755494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

et Afmfar 1 396 FE9E T gHe FE

(a) =EA T HEA A () Femdm darEd T onedt i s
(b) 3TN HEAT WA (i) T=E TS e % g
(¢) =%, 9 ol (iil) T TS TEe w7 A =9 o9 T

o =TT =iET

(d) ve.un, fagdt gt (iv) U=l U9 EEAIET hi HEatE Tome
T

M (@-@). (b)-(ii). (c)-(iid), (d)-(iv)
@  (@-Gv). b)-(). (©)-(i). (d)-(iD)
3  (@-G). B)-(v). (©)-(). (@-(id)
(4) (a)-(1). (b)-(111). (e)-(1), (d)-(1v)

Options:

51547521433 1
61547521424, 2
61547521425
61547521436 4

Question Number : 135 Question Id : 6154755495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Match the number of Sustainable Development Goals with their explanation :

(a) SDGT (11  affordable and clean energy

(b) SDGS8 (11) reduced inequalities

(c) SDG?9 (1) 1ndustry innovation and infrastructure
(d) SDG 10 (iv) decent work and economic growth

Choose the correct option :

(1) (a)-(1). (b)-(1v). (¢)-(am1). (d)-(11)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(m1). (b)-(xv). (c)-(1). (d)-(11)
(4) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
Options:

61547521437 1

61547521438, 2



E1547521439. 3
61547521440, 4

Question Number : 135 Question Id ;: 6154755495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

uToiiT (Tad) T @sat Fi gie Fit 3T =men 3 gated i

(a) vE.ELHAL T 1) =EAE (AEEEE) 3T =S Sl
(b) wE 1A 8 (i)  FFEAHAT 9 FH T

(¢ A9 (i) FEI-TAEET T AFEEAT

(d) TwE.FS 10 (iv) el w3 i afg

D @-@. ©)-v). (o)-(1w). (d)-1)
(2)  (2)-(i). (b)-(iid), (e)-(iv), (d)-{)
(3)  (a)-(iid). (b)-(iv). (e)-(1). (d)-(ii)
4 @-Gv). (b)-(). (©)-). (d)-(1)

Options:

61547521437, 1
E1547521428. 2
61547521429, 5
61547521440 4

Question Number : 136 Question Id : 6154755496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following 1s NOT correctly matched regarding distribution of tax revenue?

(1) Tax levied by the centre but collected and appropriated by the state : Article 268
(2) Tax levied and collected by the centre but azsigned to the states : Article 269

(3) Surcharge on certain taxes and duties for the purpose of the centre: Article 271
(4) Taxes levied and collected by the states: Article 275

Options:

615475214411
61547521442, 2
61547521442 5
61547521444 4

Question Number : 136 Question Id : 6154755496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FL T o foan % 91§ et § O e Y9 98 2 8 gHio 96 f ¢

(1) g 910 =701 A, Td U9 g HAfRd R At e T e o aaees - 268

(2) g IWI AT HW EUTEG TR T, TG T A EI O ageas - 269

(3) e =& TEEH & v el 0 vF el W OEEd o 3= - 271

(4) =1 g1 =TT T SR Autad R T A s=as - 275

Options:

61547521441, 1
E1547521442 2
61547521442 5
61547521444 4

Question Number : 137 Question Id : 6154755497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the thinkers with their respective 1deas :

(Thinkers) (Ideas)
(a) Abraham Maslow (11 The Self-actualization Needs
(b) Douglas McGregor (1) Scanlon Plan
(c) Chris Argyris (1m1) Maturity — Immaturity Theory
(d) Frederick Herzherg (1v) Satisfiers and Dissatisfiers

Choosze the correct option :

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(av). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
Options:

51547521445, 1

61547521446 2

61547521447 =2

1547521448 4

Question Number : 137 Question Id : 6154755497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



freferiaa faas #3738 Fatag fa=nt & gafeq Hia

(Fa) (fer=m)
(a) FHTEA T () ATHEYT AETIHAT
(b) ST HEAT (i) T T
(c) Torm wiifivm (i) TRTFEAT - FOTEEA HET
(d) hsies ws=m (iv) Tams T FAEAT+
=l fasey g

(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(2)  (a)-(i). (b)-(ii). (c)-(Gv), (d)-(1)
(3 (-, (0)-@{v). (e)-Q), (d)-(1i)
4y (a)-v). (b)-(). (e)-(11). (d)-(ii1)

Options:

61547521445 1
61547521446, 2
61547521447 =
61547521445 4

Question Number : 138 Question 1d : 6154755498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match tvpes of category of policies with respective examples :

(Tvpes of category) (Examples)
(a) Distributive policy (1) Promotion of civil rights for social
minorities
(b) Re-distributive policy (1) Licensing profession such as law or
medicine
{c) Protective Regulatory policy (1) Farm subsidies
(d) Competitive Regulatory policy (1v) Unsafe consumer products

Choose the correct option :

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1). (e)-(1v). (d)-(11)
(4) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
Options:

£1547521449. 1

£1547521450. 2

E1547521451. 3
BE1547521452. 4

Question Number : 138 Question Id ;: 6154755498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i = @ % TR T SAH DA IS B o it

(=1 T (32TETT)
(a) TarawomeR Hifd (1) HETF B9 § Ao 6 e A
(b) AT Hifd (i) fafa = sfiefa 39 s ==am
() TEEOTeH T i (i) Y THEEEA
(d) wiaeraiors fafams it (iv) STHIie STHR 3e01E

Al 9% g

(1) (a)-(1). (b)-(n). (c)-(111). (d)-(1v)
(2) (a)-(11), (b)-(111), (c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1). (c)-(1v). (d)-(11)
(4)  (a)-(v). (b)-(). (c)-(i1). (d)-(ii1)

Options:

61547521449, 1

£1547521450. 2

61547521451, 3
61547521452, 4

Question Number : 139 Question Id : 6154755499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following tvpes of taxes as categoriced by Kautilva in Arthashastra?

(a) Excess Profit Tax

{(b) Income Tax

{(c) Dwvarodava

{d)y Yatravelana

Choose the correct option :

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(1). (b)-(1v). (c)-(111). (d)-(11)
(3) (a)-(1). (b)-(111). (¢)-(11). (d)-(1v)
(4) (a)-(1). (b)-(1v). (c)-(11). (d)-(111)

Options:

61547521453, 1
61547521454 2
61547521455 =2
E1547521456 4

(1)

(11)

(111)

(1v)

It was 1mposed on the richer class

It was 1mposed on 1ndividuals
undertaking religious journey
It was the import duty to be levied on

foreign products

Income tax was charged upon the

artists according to their income

Question Number : 139 Question Id : 6154755499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



FifZea g1 Aqe T iiEa e T fefatas =0 w0 gEied i

(a) AR =19 (1) =% 995 T W T T @

(b) = H (i) == 9% T HE AT AR WS
B

(c) Bwied (i) == fasefi seamal W e T SeE wew A

(d) AEEEE (iv) HelRAl I A= F ATEE TG HAEE TG
ST o1

(1) (a)-(1). (b)-(1). (¢)-(111), (d)-(v)
(2) (a)-(1). (b)-v). (c)-(111). (d)-(11)
(3) (a)-(1). (b)-@ii). (c)-(11), (d)-(iv)
(4) (a)-(1). (b)-(v). (c)-(i1). (d)-(111)

Options:

61547521453, 1

61547521454, 2

61547521455 3
61547521456, 4

Question Number : 140 Question Id : 6154755500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chronologically arrange the timing of the following Acts/Committees/Commissions during

British Period in India

(a) Regulating Act

(b) Roval Commission
(c) Macaulay Committee
(d) Actchizon Commission

Choose the correct option :
(1) (a). (c). (b). (d)
(2) (a). (). (d). (b)
(3) (c). (a). (d). (b)

(4) (c), (a). (b). (d)
Options:
615475214571
61547521458 2
61547521459 3
61547521460, 4

Question Number : 140 Question Id : 6154755500 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



gid d fafew o= & IR F et sAtatEEt St e 6 H S AEn e
Fif

(@) T v

(b)  TFA FHIEH

(c)  HFTet FHA

(d)  UEEE FHEE

(1) (a). (). (). (d

(2) (a). (c). (d). (b)

(3) (c). (a). (d). (b)

(4) (c). (a). (b). (d)

Options:

61547521457, 1
E1547521458. 2
61547521459, 5
61547521460 4

Sub-Section Number: 2
Sub-Section Id: 615475242
Question Shuffling Allowed : Yes

Question Id : 6154755501 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label | Comprehension



Read the given passage carefully and answer the following questions that follow :

The Indian Economy in recent past. especially after 1980°'s has undergone manv kinds of
changes. Accordingly. a new pattern of fiscal federalism has emerged in order to meet the
new situatlons/conditions resulting out of the economic transformations. The Finance
Commission. as an 1nstrument for distribution of financial resources between the federal
constituents. dealt with the economic 1imbalances resulting out of economic changes. Besides.
the Finance Commission. other institutions hike NITI Aavog. as a Think Tank and wvarious
ministeries are plaving significant role to maintain just fiscal federalism. Further. with the
implementation of 73™ and 74™ constitutional amendments, governments at local levels are
empowered with the devolution of funds and functions. Also. GST council 1s created to ensure
uniform tax structure which 1s hikely to strengthen the existing fiscal federalism.

Sub questions

Question Number : 141 Question 1d : 6154755502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s NOT related with fizcal federalism in India?

(1) Finance Commission (2) NITI Aavog
(3) GST Council (4) Zonal Counecil
Options:

61547521461, 1
G1547521462. 2
61547521463, 3
E1547521464. 4

Question Number : 142 Question Id : 6154755503 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

NITI Aayog 1s NOT a

(1) Think tank (2) Constitutional Institution
(3) Staff Agency (4) Federal Institution
Options:

615475214651
61547521466, 2
E15475214E67. 3
E1547521468. 4

Question Number : 143 Question Id : 6154755504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following 1s NOT correctly matched?

(1) NITI Aayvog :  Think tank

(2) Finance Commaission :  Distribution of net proceeds of taxes between Centre
and States

(3) GST Couneil . Joint Forum of centre and States

(4) State Finance Commission : Provides funds for state government

Options:

BE154752146%5. 1
61547521470, 2
61547521471, 3
61547521472, 4

Question Number : 144 Question Id : 6154755505 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Decentralisation in India was mainly facilitated by which of the following?

(1) 73 and 74 Constitution Amendment Acts
(2) Finance Commission of India

(3) GST Counecil

(4) Office of the Distriet Collector

Options:

15475214721

61547521474 2

61547521475 2

1547521476 4

Question Number : 145 Question Id ;: 6154755506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following institutions 1= NOT created in post-liberal period for
strengthening fiscal federalism?

(1) State Finance Commission {2) Finance Commission of India
(3) NITI Aavog (4) GST Council
Options:

B1547521477. 1
61547521478, 2
61547521479, 3
61547521450, 4

Question Id : 6154755501 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension



F1 B 0 RdE APeae o, {599 'Y § 1980 % 415 FE 9 % §95d g o] qadun, AT B9
ORI TEEY AT A WA B % HE § TSN Tharg 1 A U (9 g 2| fam s A
T g2l o BT a9 TEaEl & T g0 UF A9 o T9 °, 09T geadl ° 3099 oTdw 38@ded o
e =1 w2 foa smEm + wfafes, 9% %% % =9 g Fifa smam S oeen o fatae e
P TEHNE EdiE &1 8910 Tg4 § Jgcaqul 9iF1 [0 72 21 290 A7, 739 3 7449 afadaE genad
* AT & WY, T W 2 3R FE S gR1 B9 € ol 3HI atE, UE HAH H A
gifrad 4 F fou <t | & 9fteg =1 727 o 7 2 S ad0H TSSNE Guae #1899 w4 5 om0 @

T
Sub questions

Question Number : 141 Question Id : 6154755502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fraferfiam & & i@ s § TR e & w3

(1) a9 =mEm (2) ifa A
(3) it v\ F Ui (4) &= gftes
Options:

61547521461, 1
E1547521462. 2
BE15475214E63. 3
B1547521464. 4

Question Number : 142 Question Id ;: 6154755503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

[ - _,.-h ﬁ% =

(1) T 7= (2) TETHE TR
(3) Tz T (4) e TeE
Options:

BE1547521465. 1
B1547521466. 2
B1547521467. 3
615475214658, 4

Question Number : 143 Question 1d : 6154755504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



freferfiga & i =1 7 gt T 27

(1)  ifa = . = 7=
(2) g M : heg UF UFAl % A9 HA T e WHET = e
(3) Tumduimg ;g Ug USF B HAW FAH
(4) T HE AEm ;TS TR & 0 S UEH #HAl B
Options:

61547521469, 1
E1547521470. 2
E1547521471. 3
B1547521472. 4

Question Number : 144 Question Id ;: 6154755505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
IRA § g geAq: fitea § o o grn game gar 27

f
= -’

(1) 739 3k 749 =iagm gonas AtEt=
(2) WA =1 T A
(3) =t vE 7 unEe
(4)  ToeTra=rl wEeEE
Options:
61547521473, 1
61547521474, 2

61547521475 3
E1547521476. 4

Question Number : 145 Question Id : 6154755506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FofefEa 1 O F6 O7 T59F TERNE T99E F 99 F9 % o0 39 IS e § Tied T T
T 27 o

(1) =3 T == (2)  HWA # faa s

(3)  fifa wmEm (4) =t wm F ufg
Options:

E1547521477. 1
E15475214758. 2
B15475214739. 3
61547521480, 4

Sub-Section Number: 3
Sub-Section 1d: 615475243
Question Shuffling Allowed : Yes



Question Id : 6154755507 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

Read the given passzage carefully and answer the gquestions that follow :

Historically. the district in some form or the other has been the most important unit of
administration in the Indian Sub-continent. The British Parliament — was the first
legizlature in respect of India in modern times and enactments created and gave substance
to the district head of administration. known normally as the collector. the district
magistrate or the deputy commissioner. In the post independence era. when the economy
diversified. and the pace of industrialisation and growth of tertiarv activities picked up.
other functionaries too gained in importance. But. even now. in most parts of the country.
excepting metropolitan/mega cities. the collector 1s the most recognized face of
administration. he 1= considered to be the principal representative of the government at the
district level. who could be approached to sclve all problems ranging from land disputes....
and even to 1ssues of family disorders. Though. as per the new administrative and
development environment. PRIs/ULBs are the third tier of governments thev do not totally
remove the collector's responsibility in matters of local development. The collector still
continues to be responsible for a multiplicity of tasks at the district level such as improving
human capabilities, creating physical infrastructure. imposing economic opportunities for
marginalized sections of society and facing challenges posed by disasters.

Sub questions

Question Number : 146 Question Id : 6154755508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following functions were considered as primaryv role of the Deputy
Commissioner during British Rule?

(1) Functions relating to revenue administration
(2) Administration of criminal justice
(3) Functions pertaining to general administration and special functions

(4) Welfare functions
Options:

15475214511
E1547521482. 2
E1547521482 2
1547521454, 4

Question Number : 147 Question Id : 6154755509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 13 NOT correct about the District Collector?

(1) He 1z principal representative of State Government
(2) He acts as Chief Executive Officer 1n all states
(3) He discharges the duty of Principal Census Officer

(4) He exercises the authority endowed under cinematography

Options:

61547521485, 1
61547521486 2
E1547521487. 2
61547521488, 4

Question Number : 148 Question Id : 6154755510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following role 1z playved by the District Collector for undertaking

developmental activities 1n the rural area of the district?

(1) Coordinating and synthezizing role

(2) Program formulation

(3) Sanctioning financial resources

(4) Conducting training programmes for officials engaged 1n rural development
Options:

BE1547521489. 1
615475214350 2
615475214351, 3
61547521432 4

Question Number : 149 Question Id : 6154755511 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 13 NOT a challenge of District Collector?

(1) To create physical infrastructure for the development

(2) To handle multiple tasks at district administration level
(3) To handle in-service training and promotion of employvees
(4) To improve the conditions of the marginalized sections
Options:

515475214521
61547521434, 2
61547521435, 3
E15475214356. 4



Question Number : 150 Question Id : 6154755512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In which of the following matters. the District Collector 1z expected to play a resolutory role

1n his/her district jurizdiction?

(a) Land disputes

(b) Scarcity of essential commodities
(c) Community disputes

(d) Family disorders

Choose the correct option :

(1) (a). (b) and (c) only (2) (a).(c) and (d) only
(3) (h). (c) and (d) only (4) (a). (b). (c) and (d)
Options:

B1547521457. 1
615475214588, 2
615475214399 3
61547521500, 4

Question Id : 6154755507 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

ORI ¥ U qRdE 3UHEEM H e B UF 19ar g B9 0 Y9EH il faiidsd 9gcdyy 3%E @ 2
WHF T90 ° 974 & dad 4 fufow gz, vy Agmmuzd o fagq afafag a9 g gemes 9 f9en
UIEH % YHE F Hecd Y2 A1 T9E O Foael [2iege Oiaiee 31 B9 ®HsH % &9 4 96 96
2| Tl T F A H, 99 g fafadiha g2 a9 A S Tid 0 gdEs e i
AT H Feld2l GIET 1 Taiiee 2= g3 95 2 f98 9l ¥ o 9vhn #1 9HE YidiHd qE= S 2
R E 1 A G| - A Tl T 991 TEt 9% F TianiE SAtawl (fEE) F amel | g9
F U oft aorss o <1 o6t 2| Fafu, 790 TmEiE v fawm aiEs o e 99 TS 9 e
T e anfe e =1 d A T off e faee o aiget O Ferser 0 ol e O ot
T A2l TRA1 S Tl | TSl T 9 Feigel, AEEr ARaiEl  § 59 H, 6iids AgEE 5 ged, TEe
o 3T A 1 AHF TFH T5H FH a91 AT F FE 394 g2 NGl F WEA FH S =326
FT F U 3 off 3EE 2

Sub questions

Question Number : 146 Question Id : 6154755508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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